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ENGLISH

Time allowed : 3 Hours Maximum Marks : 100

1. This paper is divided into three sections : A, B and C. All sections are compulsory.
2. Do not exceed the word-limit wherever prescribed while answering the questions.
3. Candidates are required to answer the questions in their own words as far as

practicable.

SECTION-A
Q1. Read the passage given below and answer the questions that follow :
1. Discipline is of paramount importance in human life. Life without discipline is just

like a boat without an oar. It is discipline that takes an individual, a community or a
nation to the zenith of glory. It is infact the very basis of a successful, meaningful
and purposeful living. It heightens the worth of a man and ensure respect for him.

2. Discipline is the training of the mind and the body to produce obedience to certain
personal, familial, social, intellectual and moral norms. In general, it is following a
system of code of conduct peculiar to an institution or an organisation may be a small
family or a large country. Discipline means voluntary or involuntary exercise of some
restriction on one' whims, desires and appetites so that they do not conflict with
collectively accepted and enforced value system of an organisation. In several spheres
of life, such as police, army, government institutions, school and colleges, discipline
is essential. It is strictly enforced whether a particular member likes it or not. In some
other spheres, such as social, political or professional organisations, discipline is
usually voluntary means the member who refuses to obey certain norms and discipline
of the organisation is free to leave it.

3. Many people, specially youngsters, regard discipline as an unnecessary restriction
and control on their desires and ambitions. They feel that the elders impose discipline
on them in order to maintain the status quo and their own position of authority.
Absolute liberty is not desirable, specially when it becomes a license to do whatever
one likes. The moment it begins to interfere with the liberty of others, it has to be
restricted. The liberty of an individual must be limited, he must not make himself a
nuisance to other people. This is what discipline tries to ensure : a synthesis personal
liberty and social, moral and national obligations. It means that one is free to move
one's feet in any direction so long as it does not hurt anyone else.

4. Discipline is thus essential for the well-being of the individual, the society and the
nation on the whole. As discipline imposes desirable check not only on us but on
others as well so that we can enjoy our liberty without fear. Otherwise law of the
jungle will prevail. It means the survival of the fittest. Lack of discipline will send
the human civilization to the age of primitive barbarity.
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5. Discipline is meant for our own welfare. Take the example of food habits. There is
no social, moral or political restriction imposed on how much we eat. But overeating,
we all know, result in our ill-health. If there is no discipline in family, society and
different institutions, every person will be the master of his own will, the result will
be the total confusion everywhere. If an army is lacking in discipline, it will not be
able to give a united and determined fight to the enemy. Wherever large armies have
been defeated by smaller ones, the reason has been lack of discipline. If the citizens
of a country do not obey the law of the land, the result will be complete anarchy.

6. The restriction imposed by discipline is like the restriction imposed by the law of a
country, it is good for the whole nation. History is full of examples of disciplined
people who stuck to their posts even though they had to lose their lives. It is, therefore,
desirable that we should accept discipline voluntarily and make it a part of our life.
Then we will taste its sweet fruit and forget the apparent restrictions that it imposes.
Discipline is just like a sugar -coated quinine that cures all the unhealthy aspects and
adds beauty to life.
(A) Answer the following questions :

1. What is meant by discipline ? (2)
2. Why is discipline essential in life ? (2)
3. What do youngsters think of discipline ? (2)
4. What is the result of overeating ? (1)
5. What happens due to lack of discipline in armies ? (2)

(B) Find the words in the passage given above which convey the similar meaning
as the following :
(i) Freedom (para - 3)
(ii) Lawlessness (para - 5)
(iii) Combination (para - 3) (3)

Q2. Read the following passage carefully and do the exercise that follow :
Tourism has emerged as the world's largest industry. Growing rapidly in the

last two decades, today it accounts for 6% of world output and employs some 100
million people around the globe. Since the end of the Second World War, it has
developed potential and stands today as a unique natural renewal resource industry.

Tourism–the travel - based recreation – provides people with a change of place
and a break from the monotony of daily life. It brings people of different regions and
nations together, allowing them to come into close contact with each other's customs
and other aspects of life. It reveals the scenic beauty and past heritage of a country
to people belonging to other areas and nations. The knowledge and experience gained
in the process can lead to greater understanding and tolerance and can even promote
world peace.

The contribution of tourism can more clearly be seen on the economic front. A
study conducted by the United Nations has shown that developing countries, in
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particular, can reap handsome benefits out of tourism which greatly increase the
national income. Tourism generates employment and adds to the wealth of a nation.
While tourism's advantages are many, its undesirable side-effects have raised fresh
problems.

Tourism can cause social, cultural or environmental disruption. It is causing great
damage to the environment. In order to attract more tourists, a number of tourist resorts
are built which take neither the local architectural styles nor the ecology into
consideration. Natural systems are being destroyed as a result of indiscriminate
construction to provide water and waste-disposal facilities and recreational
arrangements to tourists. Excessive use of environmental resources disturbs the
ecological balance. There is a great damage in wildlife parks due to increasing tourism
because these parks are the foremost sites of tourist attraction. Tourist vans and the
visitors' feet destroy the ground vegetation, thus affecting the feeding habits of the
animals and the landscape as well. Overcrowding causes congestion, leading to
environmental and health hazards.

The Taj Mahal, one of the seven wonders of the world, has suffered a lot of
wear and tear from trampling feet of the tourists. There are certain socio-cultural
effects of tourism which are proving quite damaging. Tourism often ushers in new
life styles; arrangements as desired by tourists are provided in order to make them
feel at home. The presence of this 'other' culture in various places has caused
dissatisfaction among the local people. The concern is that the local people tend to
imitate the foreign values, breaking away from their own traditions.

To promote safe tourism while ensuring that it remains a profitable industry, it
is important to understand the factors that hamper the growth of tourism and check
them effectively.

General instability of a nation also affects tourism prospects. Political
disturbances, in particular, pose a serious problem. The growing violence in the
international scene and increasing threat of terrorism affects the flow of tourists.

Whatever the problems may be, India must work hard to reap the benefits from
this industry, for the country has everything to attract visitors from far and near.
A. On the basis of your reading of the above passage, make notes on it in points

only using headings and sub-headings. Also use recognisable abbreviations
wherever necessary. Supply a suitable title to it. (5)

B. Write a summary of the above passage in about 80 words. (3)

SECTION-B

Q3. You are the president of cultural society of your school. You are planning to organise
a cultural programme. Write a notice for the school notice board inviting names of
students willing to participate.

OR
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You have lost your purse while travelling in a bus from Sunder Nagar to Bilaspur.
Draft an advertisement suitable to be given in a local newspaper. (5)

Q4. Frequent and unchecked use of loud-speakers at high volume causes a great disturbance.
As you are a correspondent of a local newspaper, write a report about its nuisance in
not more than 125 words to be published in the newspaper.

OR
You are Shailesh/Shailja of Delhi Public School, New Delhi. You accompanied the
school educational tour to Shimla, and you travelled from Kalka to Shimla by 'toy-
train'. Write a report in about 125 words about your experience to be published in
your school magazine. (10)

Q5. Write a letter to the President of Municipal Committee of your town requesting him
to develop a public park in your locality. You are Pankaj Mehta. 115, Green Villa,
Ward No. 6, Palampur.

OR
Write a letter to the editor of a newspaper expressing your concern about rising prices
of essential commodities.

OR
Write a letter in response to an advertisement for the post of English teacher in a
reputed school of Shimla. Give your detailed bio-data alongwith. (10)

Q6. Write an article to be published in your school magazine on how Cable T.V. is both
a blessing as well as a curse. (Word limit : 200 words)

OR
You must have heard about the Babri-Masjid and Ram Janambhoomi controversy.
What is your opinion about it ? Write an article for a newspaper about the need of
communal harmony and peaceful co-existence. (10)

SECTION-C

Q7. (a) Read the extract given below and answer the questions that follow :
To her fair works did Nature link

The human soul that through me ran;
And much it grieved my heart to think;

What man has made of man.
1. What is the common link between man's soul and nature ?
2. Why is poet's heart full of grief ?
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3. Write the name of the poem and the poet.
4. Explain : To her fair works

OR
I shall ever try to drive all evils from my heart and

keep my love in flower, knowing that thou hast thy seat
in the inmost shrine of my heart.

And it shall be my endeavour to reveal thee in my actions,
Knowing that it is thy power gives me strength to act.

1. What does the poet want to drive from his heart ?
2. How does the poet describe the inside of his heart ?
3. What will be the poet's endeavour in his actions ?
4. What is the name of the poem and the poet ? (4×1=4)

(b) Answer the following questions in 30-40 words each : (Any three)
1. Why does the poet call lily 'a flower of light'?
2. Why did the plate of gold become a plate of lead ?
3. Why does the poet call war ' quaint an curious' ?
4. What does the poet want to relearn ?
5. Where was the poet sitting and what did he hear ? (3×2=6)

Q8. Answer the following questions in about 30-40 words each : (Any five)
1. What does Mr. Bryce advise the speakers to do when there is really nothing to

say?
2. Why was Mr. Parsons very glad to be alive ?
3. What are the causes of poverty in India ?
4. What did Mrs. Clifford believe about the ring ?
5. Why was it almost impossible for a human being to live on the Andaman Islands?
6. Where did Earnest live and why did he come to the town ?
7. What changes took place in the position of women with the coming of the

twentieth century ?      (5×2=10)

Q9. (a) Write in about 80 words on any one of the following :
The story is about two men who lost their eyesight. To whom does the title
refer and why ?

OR
Justify the title of the story 'The Price of Flowers'. (5)

(b) The contribution of women to the creation of Modern India has been immense.
What changes has it brought about in our society.
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OR
The speaker says, "whatever you do, be clear". How does clarity help in public
speaking ? (5)

Q10. Answer any one of the following in about 80 words :
The supernatural is "an unprofitable but endlessly alluring theme." Elucidate.

OR
Justify the title 'A Modern Miracle'. (5)

Q11. Answer any five of the following in 30-40 words each :
1. What was the banker's fear when he realised that the lawyer was about to win

the bet ?
2. Why did Barin pick up things and at what age he started this ?
3. Why should one not speak about oneself ?
4. What did Gandhiji think is the foundation of education ?
5. Why did Aksionov decide to appeal to God alone ?
6. How was Baldwin's honesty rewarded ?
7. How, according to the author, can the youth serve the nation ?      (5×2=10)
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fgUnh ¼,sfPNd½fgUnh ¼,sfPNd½fgUnh ¼,sfPNd½fgUnh ¼,sfPNd½fgUnh ¼,sfPNd½

d{kk tek nksd{kk tek nksd{kk tek nksd{kk tek nksd{kk tek nks

le; % 3 ?kaVs dqy vad % 100

uksV %& lHkh iz'u vfuok;Z gSaA iz'uks ds vad lkeus fn, x, gSaA

ç01- fuEufyf[kr esa ls fdUgha nks x|ka'kks dh lizlax O;k[;k dhft, %&

¼d½ Øks/k 'kkfUr Hkax djus okyk euksfodkj gSA ,d dk Øks/k nwljs esa Hkh Øks/k dk lapkj djrk

gSA ftlds izfr Øks/k izn'kZu gksrk gS og rRdky vieku dk vuqHko djrk gS vkSj bl

nq%][k ij Hkh mldh R;ksjh p<+ tkrh gSA ;g fopkj djus okys cgqr FkksM+s fudyrs gSa fd

ge ij tks Øks/k izdV fd;k tk jgk gS] og mfpr gS ;k vuqfprA blh ls /keZ] uhfr vkSj

f'k"Vkpkj rhuksa esa Øks/k ds fujks/k dk mins'k ik;k tkrk gSA lUr yksx rks [kyksa ds opu

lgrs gh gSa] nqfu;knkj yksx Hkh u tkus fdruh Å¡ph&uhph ipkrs jgrs gSaA lH;rk ds

O;ogkj esa Hkh Øks/k ugha rks Øks/k ds fpUg nck, tkrs gSaA bl izdkj dk izfrfcUc lekt dh

lq[k&'kkafr ds fy, cgqr vko';d gSA ij bl izfrfcUc dh Hkh lhek gSa ;g ij&ihM+dksUeq[k

Øks/k rd ugha igqaprkA

¼[k½ fuank dqN yksxksa dh iwath gksrh gSA cM+k yEck&pkSM+k O;kikj QSykrs gSa os bl iw¡th lsA dbZ

yksxksa dh izfr"Bk gh nwljksa dh dyad&dFkkvksa ds ikjk;.k ij vk/kkfjr gksrh gSA cM+s jlfoHkksj

gksdj os ftl&frl dh lR;dfYir dyad dFkk lqukrs gSa vkSj Lo;a dks iw.kZ lUr le>us

dh rqf"V dk vuqHko djrs gSaA

¼x½ fo'o ds cgqla[;d yksxksa dk bl lkjs xksj[k/ka/ks ls fo'okl gh mB x;k gSA ;g lkjh cgl

rks mu yksxksa ds chp dh gS] tks O;oLFkk ds lkFk tqM+s gq, gSaA ;g blfy, pyrh gS] D;ksafd

blds lkFk ra= dh 'kfDr gS] ra= ij gkoh ik¡p izfr'kr jktuhfrd vkSj vkfFkZd 'kfDr

gfFk;k, gq, yksx vkSj muds 15 izfr'kr lgk;dksa ds fy, gh jsfM;ks] Vsfyfot+u] lekpkj&i=

vkSj lkjk izpkj rU= cksyrk gSA lHkh eapksa ij os gh fn[kkbZ nsrs gSaA blls dksbZ vUrj ugha

iM+rk fd dqN yksx lÙkk ds vkluksa ij fojkteku gSa vkSj dqN drkj cukdj izrh{kk esaA

(5×2=10)

ç02- fuEufyf[kr esa ls rhu iz'uksa dk mÙkj 40&50 'kCnksa esa nhft, %&

¼d½ ;k=k dFkk,¡ ?kqeDdM+h dk okLrfod jl D;ksa iznku ugha dj ldrh gSa \

¼[k½ izsepUn vkSj izlkn] fdl izdkj ,d&nwljs ds iwjd gSa \

¼x½ ys[kd us Hkh"e ds vijk/k dks æks.k ds vijk/k ls cM+k D;ksa ekuk gS \

¼?k½ c`ts'k us ys[kd ds lkFk fdl izdkj dk O;ogkj fd;k vkSj D;ksa \ (3×3=9)

ç03- fuEufyf[kr esa ls nks iz'uksa dk mÙkj 50&60 'kCnksa esa nhft, %&

¼d½ ;FkkFkZoknh vkSj dykoknh lkfgR;dkjksa ij D;k fVIi.kh dh xbZ gS \

¼[k½ cw<+s ds fy, MkWDVj lkgc dk crkZo vuks[kk D;ksa Fkk \
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¼x½ ehju lkgc lyke vkSj nqvk esa ls tks pkgsa dcwy dj ysa & bl dFku ls xkfyc vkSj ehju

lkgc ds lEcU/k ij D;k izdk'k Mkyk x;k gS \

¼?k½ LVkWdgkse ds yksx vkxarqdksa dks dkSu lk isM+ fn[kkrs gSa vkSj D;ksa \

(3×2=6)
ç04- fuEufyf[kr i|ka'kksa dh lizlax O;k[;k dhft, %&

¼d½ ,d fnol iqU;kS frfFk vkbZA ekuljksnd pyh ugkbZAA

inekofr lc l[kh cqykbZA tuq Qqyokfj lcS pfy vkbZAA

[ksyr ekuljksoj xbZA tkbZ ikfy ij Bk<+h HkbZAA

nsf[k ljksoj g¡lSa dqysyhA inekofr lkSa dfga lgsyhAA

,s jkuh ! eu ns[kq fcpkjh A ,fg uSgj jguk fnu pkjhAA

tkS yfx vgS firk dj jktwA [ksfy ysgq tks [ksygq vktwAA

iqfu lklqj ge xouc dkyhA fdr ge] fdr ;g ljoj ikyhAA

fdr vkou iqfu vius gkFkkA fdr fefy dS [ksyu ,d lkFkkAA

lklq uun cksfyUg ftm ysgha] nk:u llqj u fuljSa nsghaA

vFkok

[ksrh u fdlku dks] fHk[kkjh dks u Hkh[k] cfy]

cfud dks cfut] u pkdj dks pkdjhA

thfodk fcghu yksx lhn~;eku lksp cl]

dgSa ,d ,du lksa] dgk¡ tkbZ] dk djhA

csngw¡ iqjku dgh] yksdgw¡ foyksfdvr]

lk¡djs lcS iS] jke ! jkous d`ik djhA

nkfjn&nlkuu nokbZ nquh] nhucU/kqA

nqfjr&ngu nsf[k rqylh ggkdjhA

¼[k½ lal`fr ds fo{kr ix jsA

;g pyrh gS Mxex jsA

vuqysi ln`'k rw yx jsA

e`nq ny fc[ksj bl ex jsA

dj pqds e/kqj e/kqiku HkàxA

Hkqurh olq/kk] rirs ux]

nqf[k;k gS lkjk vx&tx]

daVd feyrs gSa izfr ix]

tyrh fldrk dk ;g ex]

cg tk cu d:.kk dh rjax]

tyrk gS ;g thou iraxA
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vFkok

mnjaHkfj cu vukRe cu x,]

Hkwrksa dh 'kknh esa dukr& ls ru x,]

fdlh O;fHkpkjh ds cu x, fcLrj]

nq%[kksa ds nkxksa dks rexks lk iguk]

vius gh [;kyksa esa fnu&jkr jguk]

vlax cqn~f/k o vdsys esa lguk]

ft+Unxh fuf"Ø; cu xbZ ry?kj]

vc rd D;k fd;k]

thou D;k ft;kAA (5×2=10)

ç05- fuEufyf[kr iz'uksa ds 30&40 'kCnksa esa mÙkj nhft, %&

¼d½ ^tkdh Nksfr txr dks ykxS] rkij rqgh <jS] iafDr dk vk'k; Li"V dhft,A

vFkok

fç;re dh çrh{kk esa cSBh gqbZ ukf;dk ds us=ksa dh papy fprou ds fp=.k esa dfo us

D;k&D;k dYiuk,¡ dh gSa \

¼[k½ dfork jpus dh fdl izo`fÙk dks dfo cqjk ekurk gS \

vFkok

dfork dh çR;sd iafDr ds var esa ^?ku dqjax* dh vko`fÙk ls D;k lkSUn;Z mHkjk gS \

¼3$2¾5½

ç06- dkO;&lkSUn;Z Li"V dhft, %&

xksjh lksos lst ij] eq[k ij Mkjs dslA

py [kqljks ?kj vkius] jSu HkbZ&pgq¡ nslAA

vFkok

pk¡nuh dh m¡xfy;k¡ papy

Øksf'k, ls cqu jgh Fkha piy

Qsu&>kyj csy] ekuksA ¼5½

ç07- fdlh ,d dfo dk thou ifjp; ,oa lkfgfR;d ifjp; nhft, &

¼1½ efyd eqgEen tk;lh ¼2½ ukxktqZu ¼3½ lw;ZdkUr f=ikBh fujkyk

¼5½

ç08- ¼d½ dFkkoLrq dh n`f"V ls jaxHkwfe miU;kl dk ewY;kadu dhft,A

vFkok
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jaxHkwfe miU;kl ds uk;d lwjnkl dk pkfjf=d fo'ys"k.k dhft,A ¼4½

¼[k½ dFkksidFku dh n`f"V ls jaxHkwfe miU;kl dh leh{kk dhft,A

vFkok

jaxHkwfe miU;kl dh pfj=&fp=.k ;kstuk esa çsepUn fdrus lQy jgs gSa \ ;qfDr;qDr mÙkj

nhft,A ¼4½

ç09- ¼d½ mís'; dh n`f"V ls jaxHkwfe miU;kl dh leh{kk dhft,A

vFkok

ns'kdky ,oa okrkoj.k dh n`f"V ls jaxHkwfe miU;kl dh leh{kk dhft,A ¼4½

¼[k½ ßjaxHkwfe miU;kl esa ys[kd us xka/khoknh fopkj/kkjk dks izLrqr fd;k gSAÞ & bl mfDr ds

i{k esa vFkok foi{k esa er Li"V dhft,A

vFkok

Hkk"kk ,oa 'kSyh dh n`f"V ls jaxHkwfe miU;kl dh leh{kk dhft,A ¼3½

ç010- vkfndkyhu dkO; dh çeq[k fo'ks"krkvksa ij çdk'k Mkfy,A

vFkok

lwQh dkO;/kkjk ;k jhfreqDr dkO; /kkjk dh çeq[k ço`fÙk;ksa ij çdk'k Mkfy,A ¼4½

ç011- Nk;koknh dkO; dk laf{kIr ifjp; nsrs gq, bldh izeq[k fo'ks"krkvksa ij izdk'k Mkfy,A

vFkok

izxfroknh ;k iz;ksxoknh dkO;/kkjk dh izeq[k izo`fÙk;ksa ij izdk'k Mkfy,A ¼5½

ç012- fgUnh miU;kl ds Øfed fodkl ij çdk'k Mkfy,A

vFkok

fgUnh dgkuh ds mn~Hko ,oa fodkl dk laf{kIr ifjp; nhft,A ¼4½

ç013- fuEufyf[kr esa ls fdlh ,d fo"k; ij yxHkx 400 'kCnksa esa fucU/k fyf[k, %&

¼d½ jk"VªHkk"kk & fgUnh dk egRoA

¼[k½ c<+rh csjkstxkjh % leL;k ,oa lek/kkuA

¼x½ fgekpy çns'k ds esys ,oa R;ksgkjA

¼?k½ vk/kqfud ;qx esa ukjh dh HkwfedkA

¼³½ ,M~l ds dkj.k ,oa jksdFkke ds mik;A

¼p½ i;kZoj.k&çnw"k.k dh c<+rh leL;kA ¼12½

ç014- fuEufyf[kr x|ka'k dks /;kuiwoZd i<+rs gq, lEcfU/kr ç'uksa ds mÙkj nhft, %&

ckiw th dh çsj.kk ls gh fgUnh dks jk"VªHkk"kk dk LFkku feyk gSA mUgksaus gh lnwj nf{k.k esa vius

fo'oklik= dk;ZdÙkkZvksa dks fgUnh izpkj dk dk;Z nsdj HkstkA mudk fo'okl Fkk fd laiw.kZ jk"Vª

fgUnh



(11) XII

dks ,d lw= esa ck¡/kus ds fy, vko';d gS fd lewps ns'k dh turk ns'k dh fdlh ,d Hkk"kk dks

Lohdkj dj mls gh jk"VªHkk"kk dh izfr"Bk iznku djsA mudk ;g Li"V er Fkk fd cgqr fnuksa rd

fdlh fons'kh Hkk"kk dks viuh f'k{kk ,oa laLd`fr ds fodkl rFkk Hkkjr ljdkj ds dk;ks± ds lapkyu

ds ek/;e ds :i esa cykr~ ykns jguk ijk/khu o`fÙk dk |ksrd gSA mUgsa fdlh Hkk"kk ls ?k`.kk ugha

Fkh vkSj u gh os pkgrs Fks fd yksx vaxzst+h u i<+saA ysfdu os vaxzst+h dks vuardky rd ns'k dh

,d ek= jktHkk"kk ds :i esa Lohdkj djus ds i{k esa ugha FksA mUgksaus vusd voljksa ij ;g fopkj

O;Dr fd;k Fkk fd dsoy FkksM+s ls vaxzst+h nk¡ yksxksa ds fgrksa dh j{kk ds fy, gh bls loZlk/kkj.k

ds Åij vf/kd le; rd cks> dh rjg cuk, j[kuk jk"Vªh; Hkkouk vkSj ns'k dh ,drk ds

izfrdwy gSA

iz'u %& 1- fgUnh dks jk"VªHkk"kk dk LFkku fdl dh izsj.kk ls feyk gS \

2- xka/kh th dk D;k fo'okl Fkk \

3- xka/kh th us fdls ijk/khu o`fÙk dk |ksrd ekuk gS \

4- xka/kh th dh vaxzst+h ds ckjs esa D;k jk; Fkh \

5- x|ka'k dk mfpr 'kh"kZd nsaA (1×5=5)

ç016- fuEufyf[kr dkO;ka'k dks i<+dj iz'uksa ds mÙkj nsa %&

g¡lk t+ksj ls tc rc nqfu;k¡

cksyh & bldk isV Hkjk gSA

vkSj QwV dj jks;k tc

rc cksyh & ukVd gS] u[kjk gSA

tc xqelqe jg x;k] yxkbZ

rc mlesa rksger ?keaM dhA

dHkh ugha og le>h blds

Hkhrj fdruk nnZ Hkjk gSA

nksLr dfBu gS ;gk¡ fdlh dks Hkh

viuh ihM+k le>kuk

nnZ mBs rks] lwus iFk]

ik¡o c<+kuk] pyrs tkukA

iz'u %& 1- t+ksj ls g¡lus ij nqfu;k¡ us dfo ij D;k vkjksi yxk;k \

2- nqfu;k¡ us fdl euksn'kk dks u[kjk dgk \

3- pqi jgus dks nqfu;ka us fdl :i esa dgk \

4- viuh ihM+k nwljksa dks le>kuk dfBu D;ksa gS \

5- ihM+k ds fuokj.k dk D;k mik; gS \ (1×5=5)

fgUnh
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HISTORY ¼bfrgkl½¼bfrgkl½¼bfrgkl½¼bfrgkl½¼bfrgkl½

Time : 3 Hrs. M. Marks 100

General Instructions ¼lkekU; funsZ'k½

1. 2 vadksa okys iz'u dk mÙkj 30 'kCnksa esa nhft, A
Give answer to 2 marks questions upto 30 words.

2. 3 vadks okys iz'u dk mÙkj 40 'kCnksa esa nhft,A
Give answer to 3 marks questions in 40 words.

3. 4 vadks okys iz'uksa dk mÙkj 80 'kCnksa esa nhft,A
Give answers to 4 marks questions in 80 words.

4. 5 vadksa okys iz'uksa dk mÙkj 100 'kCnksa esa nhft,A
Give answers to 5 marks questions upto 100 words.

5. 6 vadksa okys iz'u dk mÙkj 120 'kCnksa esa nhft,A
Give answer to 6 marks questions in 120 words.

6. eku fp=ksa dks mÙkj iqfLrdk ds lkFk /kkxs ls ck¡/ksA
Maps should be securely tied in answer books.

Hkkx&v ¼vk/kqfud Hkkjr½Hkkx&v ¼vk/kqfud Hkkjr½Hkkx&v ¼vk/kqfud Hkkjr½Hkkx&v ¼vk/kqfud Hkkjr½Hkkx&v ¼vk/kqfud Hkkjr½ Modern India

ç01- eqx+y lkezkT; ds iru ds rhu dkj.k crkvksA
Write three causes of downfall of Mughals. (2)

ç02- ikuhir dh rhljh yM+kbZ ds nks dkj.k crkvksA
Write two causes of third war of Panipat. (2)

ç03- dkuwu ds 'kklu ls vki D;k le>rs gks \
Explain Rule of Law. (2)

ç04- 1857 ds foæksg dk rkRdkfyd dkj.k crkvksA
Describe immediate cause of 1857 Revolution. (2)

ç05- ^QwV Mkyks vkSj jkt djks* uhfr dk vFkZ crk;saA
Explain 'Divide and Rule' policy. (2)

ç06- dwdk vkUnksyu ds laLFkkid dk uke crk;sa rFkk mudh miyfC/k;ksa dk o.kZu djsaA
Who was founder of Kuka Movement ? Describe his contributions. (3)

ç07- czge lekt+ dh LFkkiuk fdlus dh \ czge lekt dh nks f'k{kk;sa fy[kksA
Who was founder of Brahmo Samaj ? Write its two teachings. (3)

ç08- vaxzst+ksa us Hkkjr esa vk/kqfud f'k{kk iz.kkyh D;ksa ykxw dh \
What was the cause of Introducing Modern System of education in India by Britishers.

(3)
or

History
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fczfV'k Hkkjr esa d`f"k esa xfrghurk ds D;k dkj.k Fks \
Describe causes of stagnancy in Agriculture during British India.

ç09- jS¸;r okjh rFkk egyokjh Hkw&jktLo O;oLFkk D;k Fkh \ nksuksa ds ,d&,d ykHk vkSj ,d&,d
gkfu crkvksA
Describe Ryatwari & Mahalwari land revenue system. Give one merit & demerit
each of system. (3)

ç010- cax&Hkax ds D;k dkj.k Fks \ Hkkjrh; LorU=rk laxzke ij bldk D;k izHkko iM+k \
Describe causes of Division of Bengal ? What were its effect on Indian struggle for
freedom ? (4)

ç011- 1857 dh Økafr dh vlQyrk ds dkj.k crkvksA
Explain causes of failure of 1857 Revolution.

or
1857 dh Økafr ds foæksg ds jktuhfrd dkj.k fy[ksaA
Describe political causes of 1857 Revolution. (4)

ç012- Hkkjrh; jk"Vªh; dkaxzsl dh LFkkiuk dc vkSj fdlus dh \ blds izFke v/;{k dk uke crk;saA
blds çkjafEHkd mís'; D;k Fks \
When was Indian National Congress founded and by whom ? Write the name of
its first President alongwith its earlier goals.

or
bZ'oj pUæ fo|klkxj dks vk/kqfud Hkkjr dk fuekZrk D;ksa dgk tkrk gS \
Why Ishwar Chander Vidya Sagar is called pioneer of Modern India ? (4)

ç013- xnj ikVhZ ij uksV fy[kksA
Write note on Gadar Party

or
lj lS¸;+n vgen [kka dh miyfC/k;k¡ crk;saA
Give achievements of Sir Sayyad Ahmad Khan. (5)

ç014- gkse#y vkUnksyu dh Hkkjr esa 'kq#vkr fdlus dh \ blds dk;ks± dk ewY;kadu dhft,A
Who started Home Rule Movement in India. Evaluate its works. (5)

ç015- xka/kh th ds thou vkSj jktuhfrd xfrfof/k;ksa ij laf{kIr esa izdk'k MkysaA
Describe life and political activities of Gandhi in Brief.

or
vlg;ksx vkUnksyu D;k Fkk \ bls D;ksa LFkfxr fd;k x;k \ bldk egRo Hkh fy[ksaA
What was Non-co-operation movement, why it was withdrawn. Evaluate its
importance. (5)

ç016- vkt+kn fgUn QkSt+ dk Hkkjrh; LorU=rk laxzke esa D;k ;ksxnku jgk \ o.kZu djsaA
Describe contribution of Azad Hind Fauj in India's struggle for freedom.

or

History
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caxky ds uokcksa ds v/khu caxky dh mUufr dk o.kZu djsaA
Explain the Rise of Bengal under Nawabs of Bengal. (6)

ç017- Hkkjr ds ekufp= ij vaxzst+ksa ds izfl) O;kikfjd dsUæksa dks n'kkZ;saA
On the outline map of India indicate important commercial centres (factories) of
British East India Company.

or
Hkkjr ds ekufp= ij 1857 Økafr ds izeq[k dsUæ n'kkZ,aA
On the outline map of India point main centres of 1857 Revolution. (5)

Hkkx&c ¼ledkyhu bfrgkl½Hkkx&c ¼ledkyhu bfrgkl½Hkkx&c ¼ledkyhu bfrgkl½Hkkx&c ¼ledkyhu bfrgkl½Hkkx&c ¼ledkyhu bfrgkl½ Contemporary World

ç018- ledkyhu bfrgkl dh ifjHkk"kk nsaA
Explain contemporary history. (2)

ç019- ^udyh ;q)* ls vki D;k le>rs gksA
Explain 'phony war'. (2)

ç020- U;w Mhy ls D;k vfHkizk; gS \
Explain 'New Deal'. (2)

ç021- la;qDr jk"Vª la?k dh LFkkiuk dc vkSj dgk¡ gqbZ \
When was UNO formed and where. (2)

ç022- lkekftd vkfFkZd iz.kkyh ls D;k vfHkizk; gS \ iwathokn O;oLFkk dh nks fo'ks"krk,a crk;saA
Explain socio-economic system. Write two characteristics of capitalism. (3)

ç023- izFke fo'o ;q) ds pkj dkj.k crkvksA
Explain four causes of First World War.

Or
vkVykafVd pkVZj D;k Fkk \
Describe Atlantic charter. (3)

ç24- teZuh esa ukt+hokn ds mn; ds D;k dkj.k Fks \
Describe causes of Rise of Nazism in Germany.

Or
1917 dh :lh Økafu ds çHkko crk;saA
Describe effects of 1917 Revolution of Russia. (3)

ç025- foKku vkSj izkS|ksfxdh ls vki D;k le>rs gks \ foKku vkSj izkS|ksfxdh ds nks&nks ykHk crk;saA
Describe science and technology. Give two merits each of science and technology.

Or
jfoUæ ukFk VSxksj rFkk cafde pUæ pVthZ ij uksV fy[kksA
Write note on Rabindra Nath Tagore and Bankim Chander Chatterjee. (4)

History
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ç026- 'khr;q) ls D;k vfHkizk; gS \ 'khr ;q) ds dkj.kksa dk o.kZu djsaA
Describe cold war. Explain its causes

Or
xqVfujis{k vkUnksyu ij uksV fy[ksaA
Describe Non-align movement. (4)

ç027- jk"Vªla?k ds izeq[k vaxksa rFkk muds dk;ks± dk o.kZu djsaA

or
phu esa lektoknh ljdkj dh LFkkiuk dSls gqbZ \
How was socialist Govt. formed in China. (5)

ç028- f}rh; vkS|ksfxd Økafr ls vki D;k le>rs gks \ vkS|ksfxd Økafr ds izHkkoksa dk o.kZu djsaA
Explain second Industrial revolution alongwith its various effects.

Or
ln~nke gqlSu ds mRFkku vkSj iru dk o.kZu djsaA
Describe rise & fall of Saddam Hussain. (5)

ç029- fo'o ds ekufp= ij f}rh; fo'o ;q) ds ckn LorU= gq;s ns'kksa dks n'kkZ,saA
On outline map of world write the names of countries who got independence after
Second World War.

Or
fo'o ds ekufp= ij xqV fujis{k ns'kksa ds lEesyuksa ds LFkku n'kkZb,A
On the outline map of world, indicate the places where non-alligned countries held
their conferences. (5)

History
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ECONOMICS ¼vFkZ'kkL=½¼vFkZ'kkL=½¼vFkZ'kkL=½¼vFkZ'kkL=½¼vFkZ'kkL=½

Time : 3 Hrs. M.Marks 100

General Instructions : ¼lkekU; funsZ'k½

1- lHkh iz'u vfuok;Z gSaA

All questions are compulsory.
2- iz'u ds lHkh Hkkxksa dk mÙkj ,d gh LFkku ij nsaA

Parts of one question should be attempted at one place.
3- izR;sd iz'u ds vad iz'u ds lkeus fn, x, gSaA

Marks of each question are given in front of it.

Q1. (i) "Principal of Economics" fdrkc ds ys[kd dkSu gSa \

Who wrote the book "Principal of Economics".
(ii) O;f"Vxr vFkZ'kkL= D;k gS \

What is Micro Economics ?
(iii) flekUr ykxr D;k gS \

What is Marginal cost ?
(iv) ,dkf/kdkj ls D;k vfHkizk; gS \

What do you mean by Monopoly ? (1×4=4)

Q2. fofHkUu vkfFkZd iz.kkfy;ksa dk o.kZu djksA

Write down the main forms of economic system. (3)

Q3. ?kVrh flekUr mi;ksfxrk ds fu;e dk o.kZu djksA

Explain the Law of Diminishing Marginal Utility. (3)

Q4. ekax oØ uhps nkb± vksj D;ksa >qdrk gS \

Why does Demand curve slope downwards to right ? (3)

Q5. mRiknd ds lUrqyu dk D;k vFkZ gS \ bldh eq[; 'krs± crk,aA

What do you mean by producer equilibrium ? What is the condition of producer
equilibrium ? (3)

Q6. dqy mRiknu] lhekUr mRiknu rFkk vkSlr mRiknu ds lEcU/k dks fp= }kjk le>kb,A

Explain the relationship between the TP, MP and AP with the help of diagram.
(4)

Q7. fuEu rkfydk dks iwjk dhft, %&

Complete the following table :- (4)
Economics
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mRiknu dh dqy fLFkj dqy ifjorZu'khy dqy ykxr lhekar ykxr

bdkbZ;ka ykxr ykxr
Units of Total Fixed Total variable Total Cost      Marginal Cost
Production Cost cost

0 20 0 20
1 20 10 30
2 20 18 38
3 20 28 48
4 20 40 60
5 20 54 74

Q8. ,dkf/kdkjh cktkj dh pkj fo'ks"krk,a crk,aA
Explain the four features of Monopolistic Competition. (4)

Q9. iwfrZ yksp Kkr djks
Price Supply
20(Rs) 25
30(Rs) 30

Or
ekax esa o`f) vkSj ekax esa foLrkj dh lfp= O;k[;k dhft,A
Explain the increase in demand and extension of demand with the help of diagram.

(4)

Q10. ekax dh yksp dks izHkkfor djus okys rRoksa dh foLrkj ls O;k[;k dhft,A
Explain the factors determining price elasticity of demand. (6)

Q11. ?kVrs&c<+rs vuqikr ds fu;e dh O;k[;k dhft,A
Explain the law of variable proportion. (6)

Q12. lUrqyu dher ls D;k vfHkizk; gS \ lUrqyu dher ij le; rRo dk D;k izHkko iM+rk gS \
What do you mean by equilibrium price ? How the time factor affects the equilibrium
price ?

OR
laf{kIr uksV fy[kks &
Write short notes on -
(1) ca/kh ykxr vkSj ifjorZu'khy ykxr ls D;k vfHkizk; gS \

What is the fixed cost and variable cost ?
(2) cktkj ls D;k vfHkizk; gS vkSj cktkj ds eq[; rRo dkSu ls gSa \

Write down the definition of market and also write the main element of
market.

(3) mRiknu laHkkouk js[kk ls D;k vfHkizk; gS \

What do you mean by production Possibility curve ? (2×3=6)

Economics
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Q13. (i) ;g fdrkc fdlus fy[kh \

"The General Theory of Employment, Interest and Money".
Who wrote this book ?
"The General Theory of Employment, Interest and Money".

(ii) O;f"V rFkk lfe"V vFkZ'kkL= esa ,d vUrj fy[kksA

Write one difference between the Micro and Macro Economics.
(iii) cSad nj D;k gS \

Define bank rate.
(iv) vR;f/kd ekax ls D;k vfHkizk; gS \

What is excess demand ? (1×4=4)

Q14. ldy ?kjsyw mRikn rFkk ldy jk"Vªh; mRikn esa vUrj D;k gS \

What is the difference between the Gross Domestic Product and Gross National
Product. Explain. (3)

Q15. fuEu vkadM+ksa ds vk/kkj ij lk/ku ykxr ij 'kq) ?kjsyw mRikn dh x.kuk djsaA

djksM+ :0

(i) cktkj dher ij ldy jk"Vªh; mRikn 1700

(ii) ewY; gzkl 20

(iii) vkfFkZd lgk;rk 25

(iv) fons'kksa ls 'kq) lk/ku vk; & ¼15½

(v) vizR;{k dj 40

Calculate Net domestic product at factor cost. (Crore Rs.)
(i) Gross National Product at Market Price 1700
(ii) Depreciation 20
(iii) Economic Subsidy 25
(iv) Net factor income from abroad – (15)
(v) Indirect tax 40

(3)
Q16. jk"Vªh; vk; ys[kkadu dk D;k egRo gS \

Write the significance of National Income Accounting. (3)

Q17. ts0ch0 ls ds ^cktkj fu;e* dh O;k[;k dhft, &

Explain the J.B. Say 'Law of Market'. (3)

Q18. ,d vFkZO;oLFkk esa okLrfod vk; 500 djksM+ #i, gSA tcfd iw.kZ jkstxkj ij vk; 800 djksM+

#i, gSA ;fn MPC= 0.75 gks rks fdruk fuos'k c<+k;k tk, fd iw.kZ jkstxkj dh fLFkfr izkIr gks

tk,A

Economics
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Calculate full Employment situation when the
Real Income = 500 crore
Income at full employment level is = 800 crore And MPC is = 0.75 (4)

Q19. vHkkoh ekax o vR;f/kd ekax esa D;k vUrj gS \

What is the difference between the Excess and Deficient demand ? (4)

Q20. ctV D;k gS vkSj ctV ds mís'; dkSu ls gSa \ O;k[;k dhft,A

What is Budget ? Explain the objectives of the Budget. (1+3=4)

Q21. dj fdls dgrs gSa \ dj dh fo'ks"krk,a vkSj djksa ds fofHkUu izdkjksa dk o.kZu djksA

What is a tax ? What is the features of a tax and also explain the different types of
taxes. (1+1½+1½=4)

Or
oLrq fofue; iz.kkyh D;k gS vkSj oLrq fofue; iz.kkyh dh dfBukb;ka D;k gSa \

What is the barter system of exchange and what are the difficulties of barter system of
exchange ?

Q22. vk; fof/k }kjk jk"Vªh; vk; dk eki dSls fd;k tkrk gS \ bldh D;k&D;k lko/kkfu;ka gSa \

How national income is estimated by the National Income Method ? What are its
precautions ? (6)

Q23. dsUæh; cSad eqæk dh iwfrZ vFkok vFkZO;oLFkk esa lk[k ds izokg dks dSls fu;af=r djrk gS \

How does the central bank control money supply or flow of credit in the economy?
(6)

Q24. fofu;e nj dh fLFkj vkSj ifjorZu'khy iz.kkyh ds xq.kksa vkSj nks"kksa dh O;k[;k dhft,A

State the relative merits and demerits of fixed and variable system of exchange rate?
Or

Hkqxrku 'ks"k ls vki D;k le>rs gSa \ fdlh ns'k ds Hkqxrku 'ks"k dh fofHkUu enksa dh O;k[;k

djsaA

What do you mean by balance of payments ? Explain the items consisting of the
balance of payment of a country. (6)

Economics
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POLITICAL SCIENCE ¼jktuhfr 'kkL=½¼jktuhfr 'kkL=½¼jktuhfr 'kkL=½¼jktuhfr 'kkL=½¼jktuhfr 'kkL=½

le; % 3 ?kaVs dqy vad % 100

lkekU; funsZ'k %&

lHkh iz'u vfuok;Z gSaA

2 vad okys iz'uksa dk mÙkj 40 ls 60 'kCnks eas

3 vad okys iz'uksa dk mÙkj 60 ls 75 'kCnks esa

4 vad okys iz'uksa dk mÙkj 75 ls 100 'kCnks esa

5 vad okys iz'uksa dk mÙkj 125 ls 150 'kCnks esa rFkk

6 vad okys iz'uksa dk mÙkj 200 ls 250 'kCnksa esa nsaA

General Instructions:
All questions are compulsory.
Answer to 2 marks question should be between 40-60 words.
Answer to 3 marks question should be between 60-75 words.
Answer to 4 marks question should be between 75-100 words.
Answer to 5 marks question should be between 125-150 words and;
Answer to 6 marks question should be between 200-250 words.

1- dkuwu dh dksbZ nks ifjHkk"kk,a fy[kksA

Write any two definitions of Law.

2- /keZ ls vki D;k le>rs gSa \

What do you mean by Dharma ?

3- dÙkZO; 'kCn ls vkidk D;k vfHkizk; gS \

What do you mean by the word duties ?

4- rqyukRed jktuhfr dk D;k vFkZ gS \

What is the meaning of Comparative Politics ?

5- jktuhfrd lgHkkfxrk dk vFkZ crk,aA

What is the meaning of Political Participation ?

6- cgqnyh; iz.kkyh ls vki D;k le>rs gSa \

What do you mean by multiparty system ?

7- tuer fuekZ.k esa izsl ¼Nkik[kkuk½ dh Hkwfedk dh O;k[;k djsaA

What is the role of the Press in formulating public opinion ?
Political Science
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8- mnkjhdj.k dh nks fo'ks"krkvksa dk o.kZu djsaA

Describe two characteristics of Liberalism ?

9- HkweaMyhdj.k ls vkidk D;k rkRi;Z gS \

What do you mean by Globalisation ?

10- ,seusLVh bUVjus'kuy ij uksV fy[kksA

Write a note on Amnesty International. (2×10= 20)

11- LorU=rk dh lqj{kk ds fy, dkSu&dkSu ls j{kk dopksa dh vko';drk gksrh gS \

What are the various safeguards of Liberty ?

12- ßvkfFkZd lekurk ds fcuk jktuhfrd LorU=rk ,d <+ksax gSÞ O;k[;k dhft,A

'Political liberty without economic equality is a myth'. Explain.

13- D;k vf/kdkj vlhfer gSa \ O;k[;k djsaA

Are rights absolute? Explain.

14- vk/kqfud jkT; ds rhu dk;ks± dk la{ksi esa o.kZu dhft,A

Explain three functions of the modern state?

15- jktuhfrd lekthdj.k dh rhu fo'ks"krk,a crk,aA

Mention three features of Political Socialisation ?

16- yqfl;u MCy;w0 ikbZ ds }kjk nh xbZ jktuhfrd fodkl dh O;k[;k djsaA

Explain the process of Political development given by Lucian W. Pye.

17- yksdrU= esa foi{k dh Hkwfedk dk o.kZu djsaA

Describe the role of opposition in democracy ?

18- fu/kZurk ds rhu eq[; dkj.k fy[kksA

Give three main causes of poverty ?

19- Hkkjr esa lkEiznkf;drk ds mn; ds dkj.k crk,aA

What are the causes of the rise of communalism in India ? (3×9=27)

20- U;k; ds lkekftd rFkk vkfFkZd i{kksa dh O;k[;k dhft,A

Explain the social and economic dimensions of justice ?

21- mnkjokn ds izeq[k fl)kUrksa dk o.kZu djsaA

Describe the main features of Liberalism ?

22- O;Ld erkf/kdkj ds i{k rFkk foi{k esa rdZ nsaA

Give arguments in favour of and against adult franchise.

Political Science
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23- Hkkjrh; pquko iz.kkyh ds eq[; nks"k dkSu ls gSa \

What are the main defects of the Indian Electoral system.
or vFkok

Hkkjr esa fucZy tulgHkkfxrk ds D;k dkj.k gSa \]

What are the causes of the poor political participation in India ? (4×4=16)

24- ekuookn dh eq[; fo'ks"krkvksa dk o.kZu dhft,A

Explain the main characteristics of Humanism.
or vFkok

lektokn dh fo'ks"krkvksa dk o.kZu dhft,A

Explain the characteristics of Socialism.

25- egkRek xka/kh ds jktuhfrd fopkjksa dk mYys[k djsaA

Describe the political views of Mahatma Gandhi.

26- ncko lewg dh ifjHkk"kk crk,a rFkk dk;ks± dh O;k[;k djsaA

Explain the meaning and functions of Pressure groups.
or vFkok

Hkkjrh; dE;qfuLV ikVhZ ¼ekdZloknh½ dh uhfr;ksa vkSj dk;ZØeksa dk o.kZu djsaA

Describe the policies and programmes of Indian Communist Party (Marxist)

27- fgalk ds fofHkUu #iksa dk o.kZu dhft,A

Describe the various forms of violence.

28- Hkkjr&ikd lEcU/kksa dk la{ksi esa o.kZu dhft,A

Explain the relations between India and Pakistan. (5×5=25)

29- Hkkjr esa ;kstuk vk;ksx dh jpuk] laxBu rFkk dk;ks± dh O;k[;k djsaA

Describe the composition, organisation and functions of Planning Commission in
India.

or vFkok

xzke iapk;r ds eq[; dk;ks± dh foospuk dhft,A

Describe the main functions of Gram Panchayat.

30- Hkkjrh; fons'k uhfr ds ewy fl)kUr D;k gSa \ O;k[;k djsaA

Describe the basic features of India's Foreign Policy? (6×2=12)

Political Science
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GEOGRAPHY ¼Hkwxksy½¼Hkwxksy½¼Hkwxksy½¼Hkwxksy½¼Hkwxksy½

Time : 3 Hrs. M. Marks 70

All questions are compulsory.

Q1. In the outline map of World locate the following :
fo'o ds ekufp= ij fuEufyf[kr n'kkZ;saA
(i) 90-100% urbanised one area.

90&100 izfr'kr uxjhdj.k okyk ,d izns'kA
(ii) Suez Canal Route from London to Mumbai with two stations.

yanu ls eqEcgZ rd Lost ugj ekxZ nks LVs'ku lfgrA

On the outline map of India locate the following :
Hkkjr ds ekufp= ij fuEufyf[kr n'kkZ;saA
(i) 18th state of the Indian Union.

Hkkjr dk vBkjoka jkT;
(ii) Pink city of India.

Hkkjr dk xqykch 'kgj
(iii) Largest Oil Refinery of India.

Hkkjr dh lcls cM+h rsy ifj"dj.k'kkykA 2$3¾5

Q2. What do you undertstand by migration? What are the types of migration ? Explain
the different reasons of migration.
tula[;k izokl ls vki D;k le>rs gSa \ ;g fdrus izdkj dk gksrk gS \ izokl ds fofHkUu dkj.kksa

dk o.kZu djksA 5

Q3. What is Nomadic Herding ? Explain its areas and characteristics.  How it is different
from commercial cattle rearing.
pyoklh i'kqpkj.k D;k gS \ bldh fo'ks"krkvksa rFkk {ks=ksa dk o.kZu dhft,A ;g O;kikfjd i'kqikyu

ls fdl izdkj fHkUu gS \ 5

Q4. 'In India it is unity in diversity'. Explain this statement.
^Hkkjr dh fofo/krk esa ,drk ds n'kZu gksrs gSa*] bl dFku dh O;k[;k dhft,A 5

Q5. Discuss the factors affecting agriculture.
d`f"k dks izHkkfor djus okys dkjdksa dk o.kZu djksA 4

Q6. Discuss the factors affecting the location of industries.
m|ksxksa dh vofLFkfr dks izHkkfor djus okys dkjdksa dk o.kZu djksA 4

Q7. Discuss the types and patterns of Rural Settlements.
xzkeh.k cfLr;ksa ds izdkj vkSj izfr:iksa dk o.kZu djksA 4

Geography
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Q8. Comment on : (i) Sustainable development (ii) Resource management
fVIi.kh dhft, %&  1- lrr iks"k.kh; fodkl 2- lalk/ku izcU/ku 4

Q9. Name the Races found in India. Describe the characteristics of Negrito Race with
example from India.
Hkkjr esa ikbZ tkus okyh iztkfr;ksa ds ukeA fuxzhVks oxZ dh fo'ks"krkvksa dk o.kZu djksA Hkkjr esa
ls mnkgj.k nksA 4

Q10. What is Human Geography ? Explain its development of scope.
ekuo Hkwxksy D;k gS \ blds fo"k;&{ks= ds fodkl dh O;k[;k djksA 3

Q11. What conditions are required for tea cultivation ?
pk; dh d`f"k ds fy;s mit dh n'kk,a dSlh pkfg;s \ 3

Q12. Comment on :
(i) Information technology
(ii) Development of Internet.
fVIi.kh dhft, %&
1- lwpuk izkS|ksfxdh
2- bUVjusV dk fodkl 3

Q13. What are the indicators of Human Development in India ?
Hkkjr esa ekuo&fodkl ds ladsrd dkSu ls gSa \ 3

Q14. Comment on :-
(i) Indian Slums
(ii) Urban Garbage
fVIi.kh dhft, %&
1- Hkkjrh; efyu cfLr;k¡
2- uxjh; dwM+k&djdV 3

Q15. State the difference between Rural and Urban settlements.
vUrj Li"V djks
xzkeh.k cfLr;k¡ vkSj uxjh; cfLr;k¡A 3

Q16. What is the problem of water scarcity ? How can it be removed ?
tykHkko dh leL;k D;k gS \ tykHkko dh leL;k dks nwj djus ds mik; D;k gSa \ 3

Q17. What are the problems of Indian Agriculture ?
Hkkjrh; d`f"k dh leL;k,¡ D;k gSa \ 3

Q18. What is Planning  ? Why is it necessary for the development of a country ?
fu;kstu fdls dgrs gSa \ fdlh ns'k ds fodkl ds fy, fu;kstu D;ksa vko';d gS \ 3

Q19. Transport and communication are the life line of a country. Comment.
ifjogu vkSj lapkj fdlh Hkh ns'k dh thou js[kk gS A O;k[;k dhft,A 3

Geography
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GEOGRAPHY (Practical)

Time allowed : 3 Hours Maximum Marks :30

General Instructions :
1. Attempt two questions from section-A and one question from section B.

2. 22 marks out of 30 is given for written practical (12 marks for section A, 10 marks
for section B) and 5 marks for Practical Record - Book and 3 marks for viva-voce.

3. Full weightage may be given to neat and clean diagrams and calculations.

(SECTION-A)

Q1. Explain the advantages of maps for a Geographer. (6 marks)

Q2. Given below are the statistics data of marks obtained by students of a class.
Calculate the Arithmetic Mean.

(6 marks)
Marks
obtained 75 8155 49 6044 80 60 4570

Q3. Draw a star diagram (wind rose) for Bangalore on the basis of the data given below.
Direction No. of days
N 12
NE 56
E 76
SE 31
S 5
SW 23
W 119
NW 47
Calm 3 (6 marks)

Q4. Define a Dot Map? What are the necessary requirements for making a Dot Map?
(6 marks)

Q5. How is the life of a common man affected by a computer? Give a brief description.
(6 marks)

Geography
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(SECTION-B)

Q6. What is field study? What materials are required for field study? Explain steps of
field study on any one of the topics given below:
(i) Pollution.
(ii) Ground water changes.
(iii) Land use and land use changes.
(iv) Poverty
(v) Energy issues
(vi) Soil degradation
(vii) Drought and flood impacts. (10 marks)

Q7. What is spatial Information technology? Explain, how the Global Positioning system
works? (10 marks)

Geography
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PSYCHOLOGY (Theory)

Time Allowed- 3hrs M.M-70

ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA

çR;sd ç'u ds vad mlds lkeus fn, x, gSaA

Candidates are required to give their answers in their own words as far as practicable.
Marks allotted to each question are indicated against it.

uksV %& fdUgha ikap ç'uksa ds mÙkj nhft,A mÙkj laf{kIr ,oa rdZ laxr gksus pkfg,A

Attempt any five questions. Answers should be brief and to the point.

ç01- cqn~f/k dks ifjHkkf"kr djsaA cqn~f/k dks fdl izdkj ekik tk ldrk gSA fofHkUu izdkj ds cqnf/k

ijh{k.kksa esa Hksn djsaA

Define intelligence. How intelligence can be assessed. Differentiate between
different types of intelligence tests? (4,4,6)

ç02- O;fDrRo ls D;k vfHkçk; gS \ O;fDrRo ds v/;;u esa çdkj rFkk 'khyxq.k fl)kUr dh O;k[;k

djsaA

What do you mean by personality ? Explain the type and trait approach in the
study of personality. (4,10)

ç03- D;k usrk tUe ls usrk gksrs gSa ;k cuk;s tkrs gSa \ usrkvksa ds fofHkUu dk;ks± dh O;k[;k djsaA

Are the leaders born or made? Explain the various functions of a leader. (7,7)

ç04 vfHko`fÙk D;k gS vkSj vfHko`fÙk ds ?kVd dkSu ls gSa \ vfHko`fÙk;ksa dk fuekZ.k o vuqj{k.k fdl çdkj

gksrk gS \ D;k ,d ckj fufeZr vfHko`fr esa ifjorZu fd;k tk ldrk gS \ O;k[;k djsaA

What is an attitude and its components. How attitudes are acquired and maintained.
Is it possible to change once formed attitudes? Explain. (5,5,4)

ç05- çfrcy ds Lo#i] lzksr ,oa çdkjksa dh O;k[;k djsaA çfrcy ds lek/kku esa ç;qDr gksus okyh

fof/k;ksa dh O;k[;k djsaA

Explain the nature, sources and types of stress. What are the different ways to cope
with stress? (9,5)

ç06- ßvlkekU;rk lkekU;rk ls fopyu gSÞ O;k[;k djsaA vlkekU;rk ds D;k dkj.k gSa \ euksfpfdRlk

ç.kkfy;ksa dh ewy çd`fr ,oa çfØ;k dh O;k[;k djsaA

"Abnormality is a deviation from normality." Explain. What are the causal factors of
abnormality? Describe the basic nature of therapies and therapeutic process.

(4, 5, 5)

Psychology
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ç07- fdUgha nks ij laf{kIr fVIi.kh djsa %&

¼d½ i;kZoj.kksUeq[kh O;ogkj dks çksRlkgu ¼[k½ laxBukRed lajpuk ds çdkj

¼x½ fyax HksnHkko ¼?k½ ijke'kZ dh uSfrdrk

Write short notes on any two of the following:-
(a) Promoting pro-environmental behaviours.
(b) Types of organisational structures.
(c) Gender discrimination. (d) Ethics of counselling. (7,7)

ç08- ¼d½ vlewghd`r vkadM+ksa ds e/;eku] e/;kad vkSj cgqykad Kkr djus dh fof/k crk;sa \

¼[k½ fuEufyf[kr lewghd`r vkadM+ksa dk e/;eku] e/;kad vkSj cgqykad Kkr djsaA

Scores f
120-122 2
117-119 2
114-116 2
111-113 4
108-110 5
105-107 9
102-104 6
99-101 3
96-98 4
93-95 2
90-92 1

N= 40

(a) Explain the methods for calculating mean, median and mode for the ungrouped
data.

(b) Calculate mean, median and mode for the following grouped data:
Scores f
120-122 2
117-119 2
114-116 2
111-113 4
108-110 5
105-107 9
102-104 6
99-101 3
96-98 4
93-95 2
90-92 1 (5, 9)

N = 40
Psychology
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SOCIOLOGY

Time :3 hrs. M.M.100

Note:- 1. lHkh ç'u vfuok;Z gSaA

All the questions are compulsory.
2. çR;sd ç'u ds vad mlds lkeus n'kkZ;s x;s gSaA

Marks allotted to each question are indicated against it.
3. ijh{kkFkhZ tgka rd laHko gks vius 'kCnksa esa mÙkj nsaA

Candidates are to answer in their own words as far as possible.
4. 01 vad ds ç'u dk mÙkj 10 'kCnksa esa nsaA

Answer to 01 mark question be given in 10 words.
5. 02 vad ds ç'uksa dk mÙkj 25 'kCnksa esa nsaA

Answer to 02 marks questions be given in 25 words.
6. 03 vad ds ç'uksa dk mÙkj 40 'kCnksa esa nsaA

Answer to 03 marks questions be given in 40 words.
7. 04 vad ds ç'uksa dk mÙkj 60 'kCnksa esa nsaA

Answer to 04 marks questions be given in 60 words.
8. 05 vad ds ç'uksa dk mÙkj 80 'kCnksa esa nsaA

Answer to 05 marks questions be given in 80 words.

ç01- fofHkUurk esa ,drk ls vki D;k le>rs gSa \

What do you understand by unity in diversity ? (3)

ç02- vk/kqfud Hkkjr esa ,drk ds rRoksa dk o.kZu dhft,A

Explain the elements of unity in the modern India. (5)

ç03- tUe nj vkSj e`R;q nj ls vki D;k le>rs gSa \

What do you understand by birth rate and mortality rate. (2)

ç04- ßttekuh O;oLFkkÞ ls vki D;k le>rs gSa \

What do you understand by "Jajmani System" ? (3)

ç05- Hkkjrh; uxjh; thou ds vk/kkjHkwr y{k.kksa dh foospuk dhft,A

Explain the basic features of Indian Urban life. (4)

ç06- oxZ ls vki D;k le>rs gSa \

What do you understand by class? (2)

Sociology



(30) XII

ç07- tkfr vkSj oxZ esa çeq[k vUrj Li"V dhft,A

Explain the main difference between caste and class. (3)

ç08- tutkfr dh ifjHkk"kk fyf[k,A

Write the definition of Tribe. (2)

ç09- fookg ls vki D;k le>rs gSa \

What do you understand by marriage. (2)

ç010- fgUnq fookg dh çeq[k fo'ks"krk,a fyf[k,A

Write the main characteristics of Hindu marriage. (3)

ç011- la;qDr ifjokj dh çeq[k nks fo'ks"krk,a fyf[k,A

Write two main characteristics of joint family. (2)

ç012- lÙkk ds vk/kkj ij ifjokj ds çdkj crkb;sA

Write the types of family on the basis of authority. (3)

ç013- vk/kqfud Hkkjr esa ukrsnkjh dh Hkwfedk Li"V dhft,A

Explain the kinship in contemporary India. (5)

ç014- Hkkjrh; ewy ds çeq[k /keZ dkSu&dkSu ls gSa \

Which are the main religion of Indian origin? (2)

ç015- fczfV'k 'kklu ds nkSjku Hkkjr esa f'k{kk esa D;k ifjorZu gq, \

What were the changes in Education during British India? (3)

ç016- laLd`fr dh nks fo'ks"krk,a fyf[k,A

Write two characteristics of culture. (2)

ç017- jkT; ds nks ekSfyd rRo fyf[k,A

Write two basic elements of state. (2)

ç018- misf{kr lewg ls vki D;k le>rs gSa \

What do you understand by deprived group? (2)

ç019- Mh-,u- etwenkj ds vuqlkj tutkfr;ksa dh çeq[k fo'ks"krk;sa crkb,A

Explain the main characteristics of Tribe as per D.N Majumdar. (3)

ç020- ukjh dh orZeku ifjfLFkfr Li"V dhft,A

Explain the present status of women. (3)

ç021- Hkkjrh; fo|k'kkL=h; mikxe dks Li"V dhft,A

Explain the Indological approach. (4)

Sociology
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ç022- uxjh;okn dh fo'ks"krk,a dks Li"V dhft,A

Explain the characteristics of Urbanisation. (4)

ç023- laLd`frdj.k dh çfØ;k dks Li"V dhft,A

Explain the process of Sanskritization. (4)

ç024- Hkkjr dk lafo/kku dc ykxw fd;k x;k \

When the Constitution of India was implemented? (2)

ç025- iapk;r dh lajpuk vkSj cukoV ij ys[k fyf[k,A

Write  a note on the structure and formation of Panchayat. (4)

ç026- gfjr Økafr ls xzkeh.k vFkZO;oLFkk ij D;k çHkko iM+s \

What were the effects of Green revolution on rural economy ? (5)

ç027- lTtu fdlku fdls dgrs gSa \

Who is called gentleman farmer ? (1)

ç028- Hkwe.Myhdj.k D;k gS \

What is Globalization ? (2)

ç029- mnkjhdj.k ls vki D;k le>rs gSa \

What do you understand by Liberalization ? (2)

ç030- ßf'k{kk lkekftd fu;a=.k dk çeq[k lk/ku gSAÞ O;k[;k dhft,A

"Education is the main source of Social control." Explain. (4)

ç031- nwjn'kZu us lekt ij D;k udkjkRed çHkko Mkys gSa \

What are the negative effects of Doordarshan on Society ? (4)

ç032- Hkkjr esa efgykvksa ds fy, vkanksyuksa dk o.kZu dhft,A

Explain the women movements in India ? (4)

ç033- fgalk fdl çdkj lekt esa ifjorZu djrh gS \

How does violence effects the society ? (4)

Sociology
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laLd`re~laLd`re~laLd`re~laLd`re~laLd`re~

le; % gksjk=;e~le; % gksjk=;e~le; % gksjk=;e~le; % gksjk=;e~le; % gksjk=;e~ iw.kk±d % 'kre~iw.kk±d % 'kre~iw.kk±d % 'kre~iw.kk±d % 'kre~iw.kk±d % 'kre~

ijh{kk funsZ'kk % ijh{kk funsZ'kk % ijh{kk funsZ'kk % ijh{kk funsZ'kk % ijh{kk funsZ'kk % ¼1½ vfLeu~ iz'u i=s pRokj% [k.Mk% lfUrA¼1½ vfLeu~ iz'u i=s pRokj% [k.Mk% lfUrA¼1½ vfLeu~ iz'u i=s pRokj% [k.Mk% lfUrA¼1½ vfLeu~ iz'u i=s pRokj% [k.Mk% lfUrA¼1½ vfLeu~ iz'u i=s pRokj% [k.Mk% lfUrA
    ¼2½ losZ iz'uk% vfuok;kZ% lfUrA    ¼2½ losZ iz'uk% vfuok;kZ% lfUrA    ¼2½ losZ iz'uk% vfuok;kZ% lfUrA    ¼2½ losZ iz'uk% vfuok;kZ% lfUrA    ¼2½ losZ iz'uk% vfuok;kZ% lfUrA

[k.M&d ¼vifBr&vocks/kue~½[k.M&d ¼vifBr&vocks/kue~½[k.M&d ¼vifBr&vocks/kue~½[k.M&d ¼vifBr&vocks/kue~½[k.M&d ¼vifBr&vocks/kue~½

iz01- v/kksfyf[kra x|ka'ka ifBRok iz'ukukeqÙkjkf.k fy[kr & ¼5½
ckY;dkys fo'ks"kr% ckydL;ksifj lalxZL; izHkkoks HkofrA ckyd% ;kn`'kS% ckydS% lg laxfr dfj";fr]
rkn`'k% ,o Hkfo";frA vrks ckY;dkys nqtZuS% lg laxfr% dnkfi u dj.kh;kA nqtZukuka lalxsZ.k cgoks
nks"kk% thous lek;kfUrA nqtZu lalxsZ.k euq";% vln~o`r% nqjkpkjh p HkofrA vusu rL; 'kjhja {kh.ka
nqcZya p tk;rsA bg yksds p rL; dhfrZ% u';frA vr% Lo;'kkso`);s] Kkuo`);s] lq[k 'kkUR;ks% p
izkIR;Fk± loSZjfi lnk lRlaxfr% dj.kh;k nqtZu laxfr'p gs;kA
iz01- vL; x|ka'kL; 'kh"kZda fy[krA
iz02- nqtZu lalxsZ.k ds nks"kk% tk;Urs \
iz03- ^gs;k* bfr ins d% izR;;% \
iz04- ^o`);s* bfr ins dk foHkfDr% \
iz05- ^nks"kk%* bfr inL; fde~ fo'ks"k.ke~ \

iz02- v/kksfyf[kra vuqPNsna ifBRok rnk/kkfjrkuka iz'ukukeqÙkjkf.k fy[kr %
Hkxoku~ Jh d`".k% vtZqueqifn'kfr & Þ;Fkk uj% thokZfu oklkafl fogk; vijkf.k uokfu x`àkfr] rFkk nsgh
th.kkZfu 'kjhjkf.k fogk; vU;kfu uokfu la;kfrA tkrL; e`R;q% /kqzo%] e`rL; p tUe /kzqoe~A rLekr~ Roe~
vifjgk;sZ vFksZ 'kksfprqa ukgZflA vFk psr~ Roe~ bea /kE;± laxzkea u dfj";fl] rr% Lo/ke± dhfr± p fgRok
Ro ikieokIL;frA vU;Pp] yksdk% rs vO;;ke~ vdhfr± dFkf;";fUr] lEHkkforL; p vdhfrZ% ej.kkr~
vfrfjP;rsA grks ok Lox± izkIL;fl] ftRok ok egha Hkks{;lsA rLekr~ gs dkSUrs; ! Roa ;q)k; d`rfu'p;%
mfr"B !ß
iz'uk ¼d½ ,dinsu mÙkjr &

1½ gr% lu~ dkUrs; da izkIL;fr \ ¼1½
2½ e`rL; p fde~ /kqzoe \ ¼1½

¼[k½ iw.kZokD;su mÙkjr &
1½ nsgh dsu izdkjs.k vU;kfu uokfu 'kjhjkf.k la;kfr \ ¼2½

¼x½ vL; x|ka'kL; leqfpra 'kh"kZda fy[kr A ¼1½
¼?k½ ^th.kkZfu oklkafl* v= fo'ks"k.ka ina fde~ \ ¼1½
¼³½ ^R;DRok* bfr ina dL; inL; i;kZ; ine~ \ ¼1½
¼p½ ^fogk;* bfr ina dL; inL; foykse vFkZ% \ ¼1½
¼N½ ^yIL;ls* bfr LFkkus fde~ fØ;k ina iz;qDre~ \ ¼1½
¼t½ ^/kjk*] bfr ina dL; inL; vFkZ% \ ¼1½
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[k.M&[k ¼jpukReda dk;Ze~½[k.M&[k ¼jpukReda dk;Ze~½[k.M&[k ¼jpukReda dk;Ze~½[k.M&[k ¼jpukReda dk;Ze~½[k.M&[k ¼jpukReda dk;Ze~½

iz03- iznÙk 'kCnlwph lkgk¸;su mfpr inkfufpRok fjDr LFkku iwfrZ% dj.kh;k %&     ¼10½
,dnk ,d% d`"kd% iq=k; ij'kqe~ ,da nÙkoku~A cky% ij'kqa x`ghRok {ks=a izfr vxPNr~A r= l jksfirku~
lokZu~ o`{kku~ ------------------ fNUuoku~A ,d% Qyo`{k% vfi rsu ----------------A vijfLeu~ --------------- rL; firk
{ks=e~ vxPNr~A r= l% fNUuku~ o`{kku~ --------------------- {ks= j{kdku~ vi`PNr~A rs rn~fo"k;s LovufHkKrke~
-------------A rnk iq=% vkxR; firje~ vonr~ Þegksn;] ij'kks% ------------------- ijhf{krqa e;k ,rs iknik%
fuikfrrk%A firk vonr~] ÞRo;k ------------- u d`reA ije vga ro ------------------ izhr% vfLeA iqu% ,oe~ u
dk;Ze~A l lR;oknh ckyd% o;Ld% HkwRok ----------------------- jk"Vªifrine~ vy³~d`roku~A rL; uke -------
vklhr~A
'kCn lwph % mfpre~] okf'kaxVu%] ij'kquk] rh{.krke~] vesfjdkns'kL;] fnus] oh{;] fuikfrr%] lR;Hkk"k.ksu
izdfVrcUr%A

iz04- v/kksfyf[kra ladsrinkfu vk/k`R; ,de~ vuqPNsna fy[kr % ¼10½

ladsr inkfuladsr inkfuladsr inkfuladsr inkfuladsr inkfu
lnqi;ksxe~] LokcyEous] fopkjk%] fu;eku~] v/;;us LukRok] nSfudhe~] p;kZe~] vkn'kkZ%] Nk=k%]
le;L;] lnkpkje~

[k.M&x ¼ifBr vccks/kue~½[k.M&x ¼ifBr vccks/kue~½[k.M&x ¼ifBr vccks/kue~½[k.M&x ¼ifBr vccks/kue~½[k.M&x ¼ifBr vccks/kue~½

iz05- v/kksfyf[kra x|ka'ka ifBRok rnk/kkfjr iz'ukukeqÙkjkf.k fy[kr % ¼5½
vkyksd;rq rkor~ dY;k.kkfHkfuos'kh y{eheso izFkee~A b;a fg yC/kk·fi [kyq nq%[ksu ifjikY;rsA u
ifjp;a j{kfrA ukfHktueh{krsA u :iekyksd;rsA u dqyØeeuqorZrsA u 'khya i';frA u oSnX/;a
x.k;frA u Jqrekd.kZ;frA u /keZeuq#/;rsA u R;kxefnz;rsA u fo'ks"kKrka fopkj;frA ukpkja iky;frA
iz'uk%
¼d½ ,dinsu mÙkjr % yC/kk·fi nq%[ksu dk ifjikY;rs \
¼[k½ iw.kZokD;su mÙkjr % y{eh fda u j{kfr] x.k;fr] iky;fr p \
¼x½ ^y{eh* bfr inL; fda fo'ks"k.k ine~ \
¼?k½ ^tkfre~* bfr inL; fda i;kZ; ina v= iz;qäe~ \
¼³½ ^lq[ksu* bfr ina dL; inL; foyksekFkZ% \

iz06- v/kksfyf[kra i|ka'ka ifBRok rnk/kkfjrkuka iz'ukukeqÙkjkf.k fy[kr% ¼5½
u p{kq"kk x`árs ukfiokpk ukU;SnsZoSLrilk deZ.kk okA
Kku izlknsu fo'kq)lÙoLrrLrqra i';rs fu"dya /;k;eku%AA
iz'uk%
¼d½ ,dinsu mÙkjr %

p{kq"kk d% u x`árs \
¼[k½ iw.kZokD;su mÙkjr %

ijekRek dsu dsu u x`árs \
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¼x½ ^re~* bfr inL; fda fo'ks"k.ka iz;qäe~ \
¼?k½ ^fueZyrk* bfr inL; fda i;kZ;ine~ iz;qäe~ \
¼³½ ^vKkue~* bfr inL; fda foykse ina iz;qäe~ \

iz07- v/kksfyf[kra ukV~;ka'ka ifBRok rnk/kkfjrkuka iz'ukukeqÙkjkf.k fy[kr % ¼5½
oVo% & dqekj ! dqekj ! v'oks·'o bfr dks·fi Hkwr fo'ks"kks tuins"kq vuqJw;rs] lks·;e/kquk·LekfHk%

Lo;a izR;{khd`r%A
yo% & ^v'oks·'o* bfr uke lekEuk;s laxzkfeds p iB~;rs] rn~ czwr & dhn`'k% \
iz'uk %
¼d½ ,dinsu mÙkjr &

vfLeu~ ukV~;ka'ks dL; izkf.ku% o.kZue~ d`re~ \
¼[k½ iw.kZokD;su mÙkjr &

^v'oks·'o* bfr uke dq= iB~;rs \
¼x½ ^vLekfHk%* bfr ins dk foHkfDr% \
¼?k½ ^jkT;s"kq* bfr inL; fda i;kZ;ina v= iz;qäe~ \
¼³½ vfLeu~ izdj.ks ds"kke~ okrkZyki% of.kZr% \

iz08- dFkukfu vkfJR; iz'ufuekZ.ka dq#r & ¼5½
¼1½ fo}ku fo|;k ve`ra v'uqrsA
¼2½ vLekda vf/kdkj%] deZf.k orZrsA
¼3½ fLuX/k% tu% vksndkUra ;kor vuqxUrO;%A
¼4½ xq#ins'k% vtya Lukua mDre~A
¼5½ rsu Hkqfo ,sUnz O;kdj.ka iz.k"Ve~A

iz09- HkkokFk± Li"Vh dq#r & ¼3$3¾6½
¼1½ ;ksx% deZlq dkS'kye~A
¼2½ izd`fr fl)fene~ fg egkReuke~A

iz010- v/kksfyf[kra 'yksdL; iznÙkkUo;s fjDr LFkku iwfr± d`Rok fy[kr & ¼3½
t;fUr rs lqd`fruks] jlfl)k% doh'ojk%A
ukfLr ;s"kka ;'k% dk;s] tjkej.kta Hk;e~AA
vUo;% lqd`fru% --------------- rs doh'ojk% --------------------- ;s"kka ;'k% ---------------- Hk;a u vfLrA

iz011- laLd`rsu mÙkjr & ¼6½
¼d½ nso;ku% iUFkk dsu forr% \
¼[k½ ;kSoukjEHks dhn`'kh cqf)% izk;% dkyq";eqi;kfr \
¼x½ foÙkL; dk% frlz% xr;% HkofUr \
¼?k½ e/kqesfgRoekiUu% da vkS"kf/ke~ v|kr~ \
¼³½ ^yodkSrqde~* ikB% dLekr~ xzUFkkr~ ladfyr% \
¼p½ ikf.kuk O;kdj.ka dLekr~ izkIre~ \
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iz012- egkdfo dkfynkL;ksifj fgUnh Hkk"kk;ka laf{kIr ifjp;a fy[krA ¼5½
vFkok

dfo fo".kq'keZ.k% laf{kIr ifjp;a fgUnh Hkk"kk;ka fy[kr%A

iz013- mÙkjjkepkfjr ukVdL; fgUnh Hkk"kk;ka laf{kIr ifjp;a fy[krA ¼5½
vFkok

^deZ;ksx%* ikBL; lkja fy[krA

[k.M&?k ¼NUnks·yadkj ifjp;%½[k.M&?k ¼NUnks·yadkj ifjp;%½[k.M&?k ¼NUnks·yadkj ifjp;%½[k.M&?k ¼NUnks·yadkj ifjp;%½[k.M&?k ¼NUnks·yadkj ifjp;%½

iz014- ¼d½ ^la;qDr%* bfr 'kCns d% x.k% \ ¼1½
¼[k½ dfLeu~ x.ks losZ o.kkZ% xqjo% HkofUr \ ¼1½
¼x½ d;ks% };ks NUnfl mnkgj.k ifjHkk"kklfgre~ laxfr% fy[kr & ¼4$4¾8½

f'k[kj.kh] bUnzotzk] ekfyuh

iz015- ¼d½ fjDr LFkkukfu iwj;r &
¼1½ lkE;e~ okP;e~ ----------------------- okD;SD;s miek };ks%A ¼1½
¼2½ f'y"VS% inS% -------------------------- 'ys"k b";rsA ¼1½

¼[k½ d;ks% };ks% vyadkj;ks% mnkgj.k ifjHkk"kk lfgre~ laxfr% fy[kr~ & ¼4$4¾8½
:id%] vuqizkl] vFkkZUrjU;kl%
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PUBLIC ADMINISTRATION

le; % 3 ?k.Vs dqy vad % 100
Time Allowed: 3hrs M.M. 100

uksV %& 1- lHkh iz'u vfuok;Z gSaA
2- mÙkj laf{kIr ,oa Li"V gksus pkfg,A
3- 2 vadksa okys ç'uksa ds mÙkj 20 ls 50 'kCnksa esa

3 vadksa okys ç'uksa ds mÙkj 50 ls 100 'kCnksa es
4 vaadksa okys ç'uksa ds mÙkj 100 ls 150 'kCnksa esa
5 vadksa okys ç'uksa ds mÙkj 150 ls 200 'kCnksa esa
6 vadksa okys ç'uksa ds mÙkj 200 ls 300 'kCnksa esa
8 vadksa okys ç'uksa ds mÙkj 300 ls 400 'kCnksa esa nhft,

4- ç'u ua0 1 ds 10 Hkkx gSaA çR;sd Hkkx ds 2 vad gSaA izR;sd Hkkx ds 4 fodYi gSa
ftuesa ,d lgh gSA lgh dk p;u dhft,A

Note :- (i) All questions are compulsory.
(ii) Answer should be brief and to the point.
(iii) Answer to question of 2 marks in 20 to 50 words, of 3 marks in 50 to 100

words, 4 marks in 100 to 150 words, 5 marks in 150 to 200 words, 6 marks
in 200 to 300 words and 08 marks in 300 to 400 words.

(iv) Question No. 1 has 10 parts. Each part carries 2 marks. Each part has four
alternatives and one of them is correct. Select the correct answer.

ç01- (i) eqxy dky ds nkSjku dksroky ------------------------------- ds fy;s mÙkjnk;h FkkA
(1) vlSfud iz'kklu (2) iqfyl iz'kklu
(3) lSfud iz'kklu (4) U;kf;d iz'kklu
During the Mughal period kotwal was responsible for  _______
(1) Civil Administration (2) Police Admn.
(3) Military Admn. (4) Judicial Adm. 2

(ii) ------------- ds vUrxZr dydÙkk esas loksZPp U;k;ky; LFkkfir fd;k x;k FkkA
¼1½ jsxwysfVax ,DV 1773 ¼2½ la'kksf/kr vf/kfu;e 1781
¼3½ fiVl bf.M;k ,DV 1784 ¼4½ Hkkjr ljdkj vf/kfu;e 1858
At Calcutta, Supreme Court was set up under _______
(1) The Regulating Act of 1773 (2) The Amending Act of 1781
(3) Pits India Act of 1784 (4) Indian Govt. Act 1858 2

(iii) Hkkjrh; lafo/kku }kjk Hkkjr dks ---------------------------- dgk x;k gSA
¼1½ jkT;ksa dk la?k ¼2½ la?k ¼3½ ,dkRed jkT; ¼4½ la?kkRed jkT;
The Constitution of India describes India as a ___________
(1) Union of States (2) Federation
(3) Unitary State (4) Federal State 2

Public Administration
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(iv) fuEufyf[kr esa dkSu lk dk;Z vlSfud lsokvksa }kjk ugha fd;k tkrkA
¼1½ lykg ¼2½ uhfr fu.kZ; ¼3½ dkuwu ykxw djuk ¼4½ çnÙk O;oLFkkiu
Which of the following is not the function of civil services ?
(1) Advice (2) Formulation of Policy
(3) Execution of Law (4) Delegated legislation 2

(v) jkT; yksd lsok vk;ksx ds lnL;ksa dks fu;qDr djrk gSA
¼1½ jk"Vªifr ¼2½ iz/kkueU=h ¼3½ jkT; dk jkT;iky ¼4½ x`geU=h
The members of State Public Services are appointed by ________
(1) The President (2) Prime Minister
(3) Governor of State (4) Home Minister 2

(vi) fdlh O;fDr dh n{krk] 'kfDr rFkk cqf) ds lq/kkj ;k cqf) rFkk mlds fopkjksa dh
fo'ks"k n'kk esa fodkl dks izf'k{k.k dgrs gSaA fdlus dgk gS \
(1) ,y- Mh- OgkbZV (2) xySMu (3) ekdZl (4) th- VksisZ
"Training is a conscious effort made to improve or increase person's skill, power
or intelligence and to develop his attitude and scheme of value in desired
directions", who said?
(1) L.D. White (2) Gladen  (3) Marks (4) G.Torpe 2

(vii) jkT; fo/kku e.My }kjk ikfjr fcy dks jkT;iky jk"Vªifr dh Lohd`fr ds fy;s fdl
vuqPNsn ds v/khu lqjf{kr j[k ldrk gS \
(1) 200 (2) 249 (3) 250 (4) 253
Under which article the governor can reserve a bill passed by State legislature
for the consideration of the President ?
(1) 200 (2) 249 (3) 250 (4) 253 2

(viii) jk"Vªh; fodkl ifj"kn~ dk v/;{k dkSu gksrk gS \
(1) Hkkjr dk jk"Vªifr (2) iz/kkueU=h
(3) dsUæh; ;kstuk eU=h (4) ;kstuk vk;ksx dk mik/;{k
_________is the chairman of National Development Council.
(1) President of India (2) Prime Minister
(3) Union Minister of Planning
(4) Dy. Chairman of Planning Commission

(ix) ßctV ,d ,slk ifji= gS] ftlesa lkoZtfud jktLo ,oa O;; dh izkjfEHkd vuqeksfnr ;kstuk
nh gqbZ gksrh gSAÞ fdlus dgk \
(1) jhu LVkeZ (2) th- tSt (3) foyksch (4) Vs;yj
"Budget is a document containing a preliminary approved plan of public
revenue and expenditure", who said.
(1) Rean Stourm (2) G. Gaaje (3) Willoby (4) Taylor 2

(x) fgekpy izns'k esa yksdk;qDr vf/kfu;e dc ikfjr fd;k x;k \
(1) 1983 (2) 1985 (3) 1987 (4) 1989
In which year Lokayukt Act was passed in H.P. ? 2
(1) 1983 (2) 1985 (3) 1987 (4) 1989

Public Administration
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ç02- eqxydky ds dsUæh; ç'kklu dk o.kZu djksA
Describe the Central Administration in Mughal period.

Or ;k
fczfV'k ljdkj dk Hkkjrh; iz'kklu dh nsu dh O;k[;k dhft,A
Discuss the legacies of British Admn. in Indian Administration. 5

ç03- ßfdlh Hkh iz'kklfud uewus dk v/;;u mldh fLFkfr ds vuqlkj gksrk gSAÞ o.kZu djksA
"The significance of each Administrative pattern lies in its settings." Comment. 2

ç04- Hkkjr esa 'kfDr'kkyh dsUæ ds dkj.kksa dk o.kZu djksA
What are the reasons for making a strong centre in India ?

Or vFkok
dsUæ rFkk jkT;ksa ds ruko ds D;k dkj.k gSa\ o.kZu djksA
Discuss the main causes of tension between centre and states in India. 4

ç05- la?k'kklu ls D;k vfHkizk; gS \ blds la?kkRed o ,dkRed rRoksa dk o.kZu djksA
Define Federal system. Discuss Federal elements and unitary elements of the
constitution. 5

ç06- yksd lsok vk;ksx dh jpuk o dk;ks± dk o.kZu djksA
Describe the composition and functions of the Public Service Commission.

Or ;k
Hkkjr dh ubZ HkrhZ iz.kkyh dh fo'ks"krkvksa o izf'k{kkvksa dk o.kZu djksA
Describe the characteristics and examination pattern of new recruitment system in
India. 4

ç07- izf'k{k.k ls D;k vfHkizk; gS \ izf'k{k.k ds lq/kkj ds lq>koksa dk o.kZu djksA
What is training ? Discuss the suggestions for improvement of training. 4

ç08- ßjkT;iky jkT; dk laoS/kkfud eqf[k;k gSAÞ o.kZu djksA
"Governor is the constitutional head of the state". Discuss.

Or ;k
eq[;eU=h o jkT;ikyksa ds lEcU/kksa dk vkykspukRed v/;;u dhft,A
Describe the critical examination between Chief Minister and Governor. 3

ç09- jkT; lfpoky; ds xBu o dk;ks± dk o.kZu djksA
Describe the organisation and functions of State Secretariat. 4

ç010- LFkkuh; 'kklu ls D;k vfHkizk; gS \ blds egRo o uxjh; iz'kklu dh leL;kvksa dk
o.kZu djksA
Define local government. Discuss its importance and problems of urban
administration.

Or ;k
uxj&ikfydkvksa dh vlUrks"ktud fØ;kRedrk ds D;k dkj.k gSa \ buds lq/kkj ds lq>koksa dk
o.kZu djksA
Discuss the causes of unsatisfactory functioning of municipalities. Suggest measures
to improve the functioning of municipalities. 4
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ç011- ch-Mh-vks dh fu;qfDr o dk;ks± dk o.kZu djksA
Discuss the appointment and functions of the Block Development Officer.

Or ;k
ftyk/kh'k dh iapk;rh jkt dh laLFkkvksa esa D;k Hkwfedk gS \ o.kZu djksA
Describe the role of Deputy Commissioner in the working of Panchayati Raj
Institution. 4

ç012- fodkl iz'kklu fØ;k vuqdwy ,oa y{; vuqdwy gSA o.kZu djksA
Development administration is action oriented and goal oriented. Explain. 2

ç013- fodkl iz'kklu ds egRo dk o.kZu djksA
Write the significance of Development Administration. 4

ç014- fuEufyf[kr esa ls fdlh ,d ij uksV fy[kksA
1- jk"Vªh; fodkl ifj"kn~ 2- ;kstuk vk;ksx
Write the note on one of these.
1. National Development Council 2. Planning Commission 5

ç015- lkoZtfud {ks= ls D;k vfHkizk; gS \ blds mís';ksa dk o.kZu djksA
Define Public Secor. Define the objectives of the Public sector. 4

ç016- ctV ls D;k vfHkizk; gS \ foÙk iz'kklu ds fofHkUu vfHkdj.kksa rFkk ctV ds vfHkdj.k o fuekZ.k
ds fl)kUrksa dk o.kZu djksA
Define Budget. Explain different agencies of Financial Admn and the principles of
Budget making.

Or ;k
ctV ls D;k vfHkizk; gS \ ctV fuekZ.k dh izfØ;k o laln esa ikfjr fd;s tkus dh izfØ;k dk
o.kZu djksA
Define Budget. Explain the Budgetary process for making budget and enactment of
the budget by the Parliament. 8

ç017- Hkkjr esa yksxksa ds iz'kklu esa Hkkxhnkjh gksus ds egRo dk o.kZu dhft,A
Discuss the importance of citizens participation in administration. 4

ç018- ç'kklfud U;k;kf/kdj.k ls D;k vfHkizk; gS \ blds fodkl ds dkj.kksa dk o.kZu djksA
Define Administrative Tribunal. Discuss the causes of the Growth of Administrative
Tribunals

;k
iz'kklfud U;k;kf/kdj.k ds ykHk o gkfu;ksa dk o.kZu djksA
Write the advantages and disadvantages of Administrative Tribunals. 4

ç019- Hkz"Vkpkj ls D;k vfHkizk; gS \ blds fofHkUu dkj.kksa dk o.kZu djksA
What is corruption ? Discuss the causes of corruption. 4

ç020- fuEufyf[kr esa fdlh ,d ij uksV fy[kksA
¼1½ dsUæh; lrdZrk vk;ksx ¼2½ yksdiky
Write the note on one of the following :
(1) Central Vigilance Commission (2) Lok Pal 6

Public Administration
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PHYSICAL EDUCATION (Theory)

Time : 3 Hrs. M. Marks 70

ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA

çR;sd ç'u ds vad blds lkeus fn, x, gSaA
The candidates are required to give their answers in their own words as far as
practicable.
Marks allotted to each question are indicated against it.

uksV %&

1- çR;sd ijh{kkFkhZ dks dqy lkr iz'u djus gksaxsA rhu iz'u Hkkx&I ls vkSj nks&nks iz'u

Hkkx&II ls vkSj Hkkx&III lsA
A candidate is required to attempt seven questions in all i.e.three from Part-I
and two each from Part II and III.

2- çR;sd iz'u ds lHkh Hkkx ,d lkFk gy dhft,A

Attempt all the parts of a question together.

 Hkkx&Hkkx&Hkkx&Hkkx&Hkkx&I (Part-1)
Q1. 'kkjhfjd ;ksX;rk ,oa dq'kyrk dk egRo D;k gS \ 'kkjhfjd ;ksX;rk vkSj LokLF; ¼dq'kyrk½ dks

çHkkfor djus okys rF;ksa ij izdk'k MkysaA
What is the importance of physical fitness and wetness?  Comment on factors affecting
physical fitness and wetness. (3,7)

OR
ç;ksx vkSj vç;ksx ds fl)kUr dk o.kZu djsaA vf/kd Hkkj ds fl)kUr ds egRo ij izdk'k MkysaA
Define principles of use and disuse? Comment on importance of the principles of
overload. (5,5)

Q2. vuqdwyu ls D;k vfHkizk; gS \ o.kZu djsaA bl fØ;k ls gksus okys ykHkksa dk o.kZu djsaA
Define conditioning? Explain it. Write the advantages of conditioning.

OR
vkblksVksfud vkSj vkblkseSfVd O;k;keksa ls vki D;k le>rs gSa \ blesa vUrj Hkh Li"V djsaA
Define isotonic and Isomettic exercises? Write the difference between the two
exercises. (3,7)

Q3. ¼d½ O;fDrxr O;ogkj ij lkekftd leL;kvksa ls gksus okys izHkko D;k gSa \
(a) Explain the influence of social institutions on individual behaviour.
¼[k½ lewg O;ogkj ls vki D;k le>rs gSa \ O;fDrxr O;ogkj rFkk lkewfgd O;ogkj esa vUrj

Li"V djsaA

Physical Education
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(b) What do you understand by group behaviour? Comment on the individual
behaviour and group behaviour. (5,5)

OR
¼d½ [ksydwn vkSj Hkkjrh; laLd`fr dh fo'ks"krk;sa D;k gSa \
(a) Define importance of Indian games and sports culture?
¼[k½ Hkkjro"kZ es usr`Ro izf'k{k.k ds fy;s miyC/k lqfo/kk;sa D;k gSa \
(b) What are the facilities available for leadership training in India? (5,5)

Hkkx&Hkkx&Hkkx&Hkkx&Hkkx&II (Part-2)

Q4. viuh ilUn ds fdlh Hkh [ksy ds eSnku dk fp= cukb, vkSj mldh O;k[;k djsaA
Draw a diagram of any play field of your choice and explain it.

OR
'kkjhfjd f'k{kk es /kkod iFk fØ;kvksa dh D;k Hkwfedk gS \ Å¡ph dwn esa 'kkjhfjd {kerk dk ç;ksx dSls

fd;k tkrk gS \
Define the role of track and field events in physical education? How the physical
strength is used in high jump.? (5, 5)

Q5. vksyafid [ksyksa dk laf{kIr bfrgkl o.kZu djsaA
Define the history of Olympic games in brief?

OR
[ksyksa esa [ksy iqjLdkj fdrus izdkj ds gksrs gSa rFkk buds egRo ds ckjs esa foLrkj ls fy[ksaA
Define the type of games awards in games? Write the importance of games awards
in detail. (5, 5)

Hkkx&Hkkx&Hkkx&Hkkx&Hkkx&III (Part-3)

Q6. lekt dh Hkwfedk dk vPNs LokLF;] i;kZoj.k ds lq/kkj ds fy, Hkwfedk dk o.kZu djsaA
Describe the role of the society in the improvement of environment for health.(10)

OR
ifjokj dk vFkZ ,oa ifjHkk"kk,a fy[ksa \ ifjokj dh eq[; fo'ks"krk,a D;k gSa \ (5, 5)
Write the meaning and definitions of a family ? What are the chief characteristics of
a family.

Q7. cPpksa dh ns[kHkky esa eka&cki dh D;k Hkwfedk gS \ foLrkj ls fyf[k,A
Write the role of parents in child care?  Explain in detail. (5,5)

OR
çkFkfed lgk;rk ls D;k vfHkizk; gS \ izkFkfed lgk;rk ds fdUgha pkj fl)kUrksa dk o.kZu djsaA
How do you define First Aid ?
Write any four principles of First Aid. (5, 5)
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INFORMATICS PRACTICES (Theory)

Time Allowed- 3hrs M.M-70

ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA çR;sd ç'u ds vad mlds lkeus fn, x, gSaA

Candidates are required to give their answers in their own words as far as practicable.
Marks allotted to each question are indicated against it.

uksV %& lHkh ç'u vfuok;Z gSaA

All questions are compulsory.

1. State whether the following statements are True or False:
fuEufyf[kr dFku esa lgh o xyr crkb, %&

(i) ODBC stands for open data base connectivity.
ODBC dk eryc Open data base connectivity gksrk gSA

(ii) Front end is a user interface where client can make a request.
Front end ,d user interface gS] tgka client ,d ekax dj ldrk gSA

(iii) Data dictionary is not an essential part of DBMS.
Data Dictionary, DBMS dk ,d t:jh fgLlk ugha gSA

(iv) A relation is table.
Relation ,d table gSA

(v) Visual basic is an event driven language.
Visual basic ,d event driven language gSA

(vi) Show method is used to display the form object.
Show method, form object dks n'kkZus ds fy, ç;ksx gksrk gSA

(vii) MDI stands for multiple document interface.
MDI dk eryc multiple document interface gksrk gSA

(viii) Oracle is an object oriented database.
Oracle ,d object oriented database gSA

(ix) Oracle supports PL/SQL.
Oracle PL/SQL dks ekU; djrk gSA

(x) SQL statements are Case Sensitive.
SQL statements Case Sensitive gksrh gSA (10)

Q2. Explain SDLC and DDLC.
SDLC vkSj DDLC dh O;k[;k dhft,A

vFkok (OR)
Explain the following :

Informatics Practices
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fuEufyf[kr dh O;k[;k dhft, %

(i) Entity (ii) Attribute (iii) Relationship (6)
Q3. (a) What are Modules in visual basic? Explain. (6)

Visual basic esa fofHkUu çdkj ds modules dh O;k[;k dhft,A

(b) Explain logical operators in visual basic. (6)
Visual basic esa logical operators dh O;k[;k dhft,A

vFkok (or)
Explain the following functions in visual basic. (12)
Visual basic esa fuEufyf[kr functions dh O;k[;k dhft,A

(i) Val( ) (ii) Ltrim ( )
(iii) ABS ( ) (iv) Sgn ( )

Q4. (a) What is SDI. Explain. (5)
SDI D;k gS \ O;k[;k dhft,A

(b) What do you mean by record sets? Explain. (5)
Record sets ls vki D;k le>rs gSa \ O;k[;k dhft,A

(c) Write a function to generate six random numbers between 3 and 10 in visual
basic. (5)
Visual basic esa 3 vkSj 10 ds chp esa dksbZ N% number cukus ds fy, programme fy[ksaA

Q5. (a) Explain PL/SQL Block structure. (6)
PL/SQL esa Block structure dh O;k[;k dhft,A

(b) Write a PL/SQL program to print the series from 1 to 50. (6)
PL/SQL esa 1 ls 50 rd Øe dks eqfær djus ds fy, code fyf[k,A

vFkok or
(a) What is transaction ? Explain its properties also. (6)

Transaction D;k gS \ bldh fo'ks"krkvksa dh Hkh O;k[;k dhft,A

(b) What do you mean by COMMIT and ROLL BACK. Explain. (6)
COMMIT vkSj ROLL BACK dh O;k[;k dhft,A

Q6. (a) What do you mean by cursor? Explain its different types. (6)
Cursor ls vki D;k le>rs gSa \ blds fofHkUu çdkjksa dh O;k[;k dhft,A

(b) What is Trigger? Explain its types. (5)
Trigger D;k gS \ blds çdkjksa dh O;k[;k dhft,A

(c) Explain the following cursor attributes:
fuEufyf[kr cursor attributes dh O;k[;k dhft, %

(i) % FOUND
(ii) % ISOPEN. (4)
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PHYSICS

Time allowed : 3 Hours Maximum Marks : 70

General Instructions :
1. Write question paper series in the circle of top left side of your answer sheet.
2. Indicate the same question No. on your answer sheet as appears in your question
paper.
3. All questions are compulsory.
4. Internal choice in some questions.
5. Use log tables, if necessary.
6. Answer should be brief and to the point.
7. Question Nos 1-7 are of MCQ (Multiple choice questions) carrying 1 mark, question

No's 8 to 16 are of short answer type carrying 2 marks, question No's 17-26 are
short answer type carrying 3 marks and question No's 27-29 are long answer type
questions carrying 5 marks each.

Q1. The capacitance of earth is considered to be
(a) 1 (b) 0 (c) ∞ (d) uncertain (1)

Q2. The angle of dip at a place where horizontal and vertical components of earths
magnetic field are equal is equal to
(a) 60º (b) 45º (c) 90º (d)  0º (1)

Q3. The working of optical fibres is based on the phenomena of
(a) reflection (b) refraction
(c) diffraction (d) total internal reflection (1)

Q4. The nature of Electromagnetic waves is
(a) Transverse (b) Longitudinal
(c) Horizontal (d) vertical (1)

Q5. Which photon is more energetic
(a) Red (b) Green (c) Violet (d) Yellow (1)

Q6. The Boolean expression fon NAND Gate is:
(a) A + B=Y (B) A . B =Y     (C)   A=Y (D) A . B=Y (1)

Q7. The number of satellites needed to transmit the signal globally are
(a) 2 (b) 3 (c) 4 (d) 5 (1)

Q8. Define capacitance give its S.I. Unit and dimensional formula. (1+½+½)
(or)

Establish the relation between electric field and potential gradient. (2)
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Q9. The figure represents a balanced wheat stone Bridge. Calculate value of resistance X.
(2)

Q10. Find the force acting on a current carrying conductor placed in a uniform magnetic
field? (2)

(or)
How will you convert Galvanometer into a voltmeter. (2)

Q11. State Biot Savart's Law for the magnetic field. (2)

Q12. What do you understand by electromagnetic waves? Give its 2 properties. (1+1)

Q13. The intensity ratio in the interference pattern is 4:1. Calculate the ratio of slit widths.
(2)

Q14. Prove that μ = where c is the critical angle. (2)

Q15. Draw the circuit diagrams for showing the Forward biasing and Reverse biasing of
PN-Junction diode. (1+1)

Q16. What is doping? State the methods of doping. (1+1)

Q17. What is thermo electric Power? How does it vary with temperature of hot function?
Derive relation for neutral temperature? (1+1+1)

(or)
Define Faraday's laws of Electrolysis and find the relationship between electro-
chemical equivalent and chemical equivalent. (2+1)

Q18. State Kirchoff's laws of Electric circuits and deduce wheat stone bridge principle
from these laws. (2+1)

Q19. Show that the path followed by a charged particle inside the electric field is parabolic
in nature. (3)

Q20. State and explain Lenz's law. How will you verify it experimentally? Does it obey the
principle of conservation of energy? (2+½+½)

(or)
Explain how capacitor blocks dc and allows ac to pass through it? Find the peak value
of a.c. Whose rms value is 220 V. (1+2)

Q21. State laws of photo electric emission. Establish Einstein's photo electric relation.
(1+2)

  1
sin c
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Q22. Calculate the B.E. per nucleon of Deutron whose mass is 2.013554 u. Take mass of
proton is equal to 1.007825 u  and mass of neutron is 1.008665 u. Use 1 a.m.u=931.5
Mev. (3)

Q23. Explain the phenomenon of β-decay and γ-decay. (1½+1½)

Q24. What is rectifier? How can it be used as a full wave rectifier? (1+2)

Q25. What are T.V. signals? Find the relation between coverage distance and height of
transmitting Antenna? (1+2)

Q26. What is a LASER? Explain the term
(1) stimulated emission of radiations
(2) population inversion (1+1+1)

Q27. (a) Define the electrostatic potential at a point and derive an expression for it.
(b) Calculate the electric potential at the surface of a gold nucleus, given radius of

nucleus 6.6×10 m and atomic number of gold is 79. (3+2)
(or)

(a) Deduce Coulomb's law in electrostatics from Gauss's theorem.
(b) Calculate Coulomb's force between 2α -particles separated by a distance of

3.2 ×10 m. (3+2)

Q28. Explain the principle and working of transformer? What are various energy losses.
(1+2+2)

(or)
Derive an expression for the Average Power in LCR Series circuit connected to A.C.
Supply,  hence define power factor. (4+1=5)

Q29. Draw course of rays through a compound microscope, deduce an expression for its
magnifying power? How can the magnifying power be increased?  (1+3+1)

–15

–15
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CHEMISTRY

Time allowed : 3 Hours Maximum Marks :70

General Instructions:-
1. Candidates are required to give their answers in their own words as far as possible.
2. Marks allotted to each question are indicated against it.

Special Instructions:
1. You must write question paper series in the circle at top left side of title page of your

answer sheet.
2. Do not leave blank pages in your answer sheet.
3. All the questions are compulsory. Internal choices have been given in some questions.
4. Questions No.1 to 7 are multiple choice type questions (M.C.Q). Choose one correct

answer among four options.
5. Question No. (8 to 10) are very short answer type carrying one mark each. Answer

in one sentence or one word.
6. Questions 11 to 16 are short answer type carrying two (2) marks each. Answer these

in about 30 words each.
7. Questions 17 to 27 are short answer type carrying three (3) marks each. Answer these

questions in about 40 words.
8. Questions No. 28 to 30 are long type carrying five (5) marks each.
9. Use log table if necessary. Calculator is not allowed.

1. The correct electronic configuration of Cu+1 ion is:
(a) [Ar] 3d9 4s1 (b) [Ar] 3d10 4sº
(c) [Ar] 4d9 4s1 (d) [Ar] 4d10 4sº (1)

2. No. of atoms per unit cell present in F.C.C. are:-
(a) 1 (b) 2 (c) 3 (d) None of the above (1)

3. 18gm of glucose (molar mass 180gm mole-1) is present in 500ml of its aqueous
solution. What is the molarity of solution?
(a) 0.1M (b) 0.2M (c) 0.3M (d) 0.4 M (1)

4. If �G for a reversible reaction is found to be zero (0), what is the value of its
equilibrium constant?
(a) 0 (b) 1 (c) 2 (d) None of these (1)

5. Galvanised iron sheets are coated with:-
(a) C (b) Cu (c) Zn (d) Ni (1)
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6. For zero (0) order reaction, the integrated rate equations:-
(a) kt = (b) kt = [A] - [A]0

(c) [A] = -kt+ [A]0 (d) [A] = kt - [A]0 (1)

7. An example of micells is:-
(a) Sodium stearate (b) Gold Soils
(c) Solution of Nacl (d) Ruby glass (1)

8. What is coagulations ? (1)

9. Write the IUPAC name of isobutyric acid. (1)

10. What happen when methyl isocyanide is treated with ozone (O3) gas. (1)

11. Explain the paramagnetic behaviour of oxygen with the help of an energy level
diagram. (2)

12. Explain Heisenberg's Uncertainty Principal. Why it can be ignored in every day
life. (2)

13. Derive a relationship between �H and �E
(�H = �E + �ng RT) (2)

OR

Prove that decreasing free energy is the useful work done.

14. �H and �S for the reaction:-
Br2(l) + cl2(l)  Brcl(g)

are +29.37kg mole-1 and 104.0JK-1 mole-1 respectively. Above what temperature will
this reaction become spontaneous. (2)

15. Write the four differences between electromotive force and potential difference.
(2)

16. How many coulombs are required to produce 50gm. of aluminium from molten Al2O3.
(2)

17. (a) Explain the Schottky defect and its consequences. (2)
(b) Define  Piezo electricity (1)

18. Define relative lowering in vapour pressure of a solution of nonvolatile solute. How
will you  calculate the molecular mass of a nonvolatile solute from it. (3)

19. (a) Write the characteristics of first order reaction? (1)
(b) A first order reaction is 40% completed in 50 minutes. Calculate the time taken

to complete 80% of the reaction. (2)
OR

[A]
[A]0
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(a) Define order of reaction? (1)
(b) The rate of a particular reaction doubles when temperature changes from 27ºC

to 37ºC. Calculate the activation energy of such reaction. (2)

20. (a) Write short note on "Gold number". (1)
(b) Give four uses of adsorption. (2)

21. (a) What is ambidentate ligand ? Give one example. (1)
(b) Explain the bonding in [Ni(CN)4]

–2 complexion on the basis of valence bond
theory. (2)

22. (a) Write short note on radio-carbon dating. (1)
(b) Write four differences between nuclear reaction and chemical reaction.(2)

23. (a) Define conformation. (1)
(b) What happens when phenol is treated with excess of nitrating mixture. (1)
(c) How can you convert ethyl alcohol to methyl alcohol. (1)

24. (a) What are the conditions for the geometrical isomerism? (1)
(b) Give the preparation of bakelite and neoprene with chemical equation. (2)

25. (a) Write note on the following:-
(i) Wolff-Kishner reduction.
(ii) H.V.Z. reaction. (1+1)

(b) What happens when benyaldehyde is treated with conc. NaOH solution.
(1)

26. (a) Explain the following:-
(i) Why aniline is lesser basic than ethyl amine.
(ii) Why aniline is acetylated before carrying its nitration. (1+1)

(b) Write a note on Gabrial Phthalimide reaction. (1)

27. (a) What are advantages of biliquid ropellants over solid propellants? (1)
(b) How are antiseptics distinguished from the disinfectants? Give two examples

of each of the substances. (2)

28. (a) What is inert pair effect?
(b) What happens when XeF6 is hydrolysed?
(c) Why does nitrogen not form pentahalides?
(d) Why elemental silicon doesn't form graphite like structure.
(e) Why PH3 is a weaker base than NH3. (1×5=5)

OR
(a) Why are noble gases in general, chemically inert in nature.
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(b) Why halogen are coloured?
(c) Why oxygen is a gas but sulphur is solid at room temperature?
(d) Why carbon tetrachloride is resistant to hydrolysis but silicon tetrachloride is

readily hydrolysed.
(e) How is Xe F2 prepared? (1×5=5)

29. (a) Why do transition metals form interstitial compounds?
(b) Why transition metals show variable oxidation state?
(c) Which of two, Cu+1 and Cr+1, do you expect to be coloured and why?
(d) Name a metal of d- block which displaces hydrogen from aqueous solution of an

acid as well as alkali.
(e) Draw the structure of dichromate ion. (1×5=5)

30. (a) Write four functions of carbohydrate. (2)
(b) What are proteins? State their biological importance. (2)
(c) What is peptide bond. (1)
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BIOLOGY

Time allowed : 3 Hours Maximum Marks :70

Candidates are required to give their answers in their own words as far as possible.
Marks allotted to each question are indicated against it.
You must write question paper series in the circle at top left side of the page of your answer
book.

Special instructions :
1. While answering your questions, you must indicate on your answer book the same

question No. as appears in your question paper.
2. Do not leave blank page / pages in your answer book.
3. All the questions are compulsory and are divided into four sections.

An internal choice has been made in 3 questions of 2 marks, 2 question of three
marks and 2 (two) questions of five marks. Attempt only one of the choices in such
questions.

4. Question Nos 1 to 5 are of one mark each. There are total 7 multiple choice questions.
(MCQ). 5 out of 7 are in Section A and remaining 2 are in Section D.

5. Questions 6 to 15 are of two marks each. Answer them in 20-30 words.
6. Questions 16 to 25 are of three marks each. Answer them in 30-60 words.
7. Questions 26 to 28 are of five marks each. Answer them in 80-120 words.

SECTION-A
1. In soil water available for plants is

(a) hygroscopic water (b) capillary water
(c) chemically combined water (d) Gravitational water (1)

2. Oxygen is carried by :
(a) W.B.C. (b) Platelets
(c) R.B.C. (d) None of these (1)

3. The role of double fertilization in angiospermies to produce
(a) Endocarp (b) Integuments
(c) Cotyledons (d) Endosperms (1)

4. Mimicry is useful for
(a) Predation (b) Protection
(c) Concelment (d) Both A & B (1)

5. Which of the following can be controlled by using biopesticide.
(a) Insects (b) Diseases
(b) Weeds (d) All the above (1)
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SECTION-B
6. What are anti-transpirants ? Give examples. How do they reduce the transpiration ?

OR
What are the criteria for essentiality of mimral elements ? (2)

7. What is artificial respiration ? (2)

8. Differentiate between self pollination and cross pollination ?
OR

Differentiate between spermatogensis and oogensis. (2)

9. Define vernalization. Give its importance. (2)

10. What is gene theraphy ? Give its applications.
OR

What happens when Rh -ive mother bears Rh+ve child. (2)

11. Define following terms :
(i) Mutulism (ii) Commensalism
(iii) parasitism (iv) Predation (½+½+½+½=2)

12. Define respiratory quotient (RQ). Write its value for carbohydrates, fats and proteins.
(2)

13. Explain the accessory excretory organ in human body. (2)

14. Define endangered and rare species also give their examples. (2)

15. Explain mechanism of organ transplant rejection. (2)

SECTION-C
16. Write down the causitive organism, symptoms, mode of transmission and control

measures for AIDS ? (3)

17. What is global warming ? Describe green house effects in nature. (3)

18. Describe the development of female gametophyte in angio sperms. (3)

19. Name the harmones secreted by adrenal cortex also write their functions.
OR

Describe the transmission of nerve impulse across the synapse. (3)

20. Give graphic representation of T.C.A. cycle. (3)

21. Draw and label the structure of human ear. (3)

22. What are the factors which cause water pollution ?
OR

What are the different factors responsible for reducing soil fertility ? (3)
Biology
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23. Explain : (i) Birth rate (ii) Death rate (iii)  Zero-population growth.
      (1+1+1=3)

24. a) Differentiate between Menstrual cycle and oestrous cycle.
b) Write a short note on artificial insemination. (2+1=3)

25. Describe the Black Mann's Law of Limiting factor. (3)

SECTION-D

26. a) What is hepatic Portal system ? Write its significance.
b) Describe the digestion of protein in small intestine of man.

OR
a) Give the classification of human ribs.
b) Describe various types of Synovial joints. (3+2=5)

27. a) Explain Dixon and Jolly theory of acent of Sap.
b) Cranium is made up of :

a) 10 bones b) 12 bones
c) 8 bones d) 14 bones

c) Exudation of H2O drops from the edges or tip of the leaf is called
a) Bleeding b) Guttation
c) Transpiration d) Plasmolysis (3+1+1=5)

28. Write a short note on
a) MRI b) C.T. Scan

OR
Explain the following :
a) Bio-war
b) Bio-piracy
c) Bio-patent
d) Bio-fertilizer
e) Sustainable agriculture (5)
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MATHEMATICS

Time allowed : 3 Hours Maximum Marks :100

Note : PART-A is compulsory. Option for Part B or Part C.

PART-A
Chapter
1. Matrices and Determinants (C) 6+4+1+1 = 12 (6(c))
2. Boolean Algebra 4 = 4
3. Probability (C) 4+1+1 =  6 (4(c))
4. Function, Limits and Continuity 4 =  4
5. Differentiation 4 + 4 =  8
6. Application of Derivative (c) 6+ 4 = 10 (6(c))
7. Indefinite Integral 4+4+1+1 = 10
8. Definite Integral (c) 6+4 = 10    6(c)
9. Differential Equation (c) 3+3 =  6    3(c)

   70
PART-B

10. Vector's (Continued) 4+1+1 =  6
11. Three diamentional Geometry (c) 6 + 4 = 10 6(c)
12. Elementary Statistics (c) 4 + 4 =  8 4(c)
13. Elementary Dynamics 4 + 1 + 1 =  6

   30

PART-C
14. Partnership (c) 4 =  4 4(c)
15. Bill of Exchange 4 + 1+ 1 =  6
16. Linear Programming (c) 6 =  6 6(c)
17. Annuities 4 =  4
18. Application of Calculus in Commerce 4 =  4
19. Probability 4 + 1+ 1 =  6

   30
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Total No. of Questions 31
PART-A
Q.No. Marks        Total
1-6 1   6
7-8 3   6
9-18 4 40
19-21 6 18

70

PART-B
22-25 1   4
26-30 4 20
31 6   6

30

PART-C
As above for Part-B
Choice (Part A)
QNo. 7, 11, 19, 20, 21
Marks : 3, 4, 6, 6, 6 = 25
Choice (Part B)
Q.No. 29, 31
Marks : 4, 6 = 10

Marks allotted to each question are indicated against it.
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Special Instructions :-
1. You must write question paper series in the circle at left side of title page of your

answer book.
2. While answering your questions you must indicate on your answer book the same

question number as appears in your question paper.
3. Do not leave blank page / pages in your answer book.
4. The question paper consists of three sections A, B and C. Section A is compulsory

for all students. In addition to section A every student has to attempt either section B
or Section C.

5. For Section A : Questions Nos 1 to 6 multiple choice questions are of 1 mark each.
Questions Nos 7 to 8 are 3 marks each. Question Nos 9 to 18 are of 4 marks each.
Question No. 19 to 21 are of 6 marks each.

6. For Section B / Section C : Questions Nos. 22 to 25 multiple choice questions are of
1 mark each. Questions Nos. 26 to 30 are of 4 marks each. Question No. 31 is of
6 marks.

7. All questions are compulsory.
8. Internal choices have been provided in some questions. You have to attempt only

one of the choices in such questions.
9. Use of calculator is not permitted, however you may ask for Logarithmic tables, if

required from the Superintendent of examination.
10. Try to answer the questions in serial order as far as possible.

PART-A

Q1. The value of ,  ω being a cube root of unity is :

(a) 0 (b) 1 (c) ω² (d) ω (1)

Q2. If A =    ,  then A² is equal to :

(a) Unit matrix (b) null matrix (c) A (d) –A (1)

Q3. Three coins are tossed, the probability of at least one head is :

(a) (b) (c) (d) (1)

Q4. If A and B are two events such that P(A4B) =    , P (A3B) = P(B) =
then the event A and B are :
(a) Independent (b) dependent
(c) mutually exclusive (d) None of these (1)

1 ω ω²
ω ω² 1
ω² 1 ω

1   0   0
0   1   0
0   b –1

1
8

7
8

3
8

6
8

5
6

1
3

1
2
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Q5. is equal to : (1)

(a)    tan–1 (b)      sin    (c)       log (d)    log

Q6.     dx is equal to (1)

(a)   logx + c (b)   (logx)³ +c (c)   (logx)²+c (d) 0

Q7. Solve the differential equation :
(3xy + y²) dx = (x² + xy)dy

OR
Solve the differential equation :
y' + 2y = sinx (3)

Q8. Solve the initial value problem :
y" = sinx + ex (x εR) , y(θ) = 3, y' (0) = 4 (3)

Q9. Prove without expanding :

= (b–c) (c–a)  (a–b) (bc+ca+ab). (4)

Q10. Examine the validity of the following arguments :
S1 : pv(qvr), S2 : ~ r, S:pvq (4)

Q11. Find the probability distribution of the number of heads when three coins are tossed.
OR

The Probability of A hitting a target is     and that of B hitting is      . They both fire
at the target. Find the probability that :
(i) at least one of them will hit the target.
(ii) only one of them will hit the target. (4)

Q12. Locate the points of discontinuity of the function :

     , if x ≠ 2

   16      , if x = 2 (4)

Q13. Use delta method to find the derivative of the function :
√ sin x (4)

  dx
a² – x²∫
1       x
a       a

 1    a–x
2a    a+x

 1    a–x
2a    a+x

 1     a+x
2a     a–x

∫ logx
x
1
4

1
3

1
2

1 1 1
a² b² c²
a³ b³ c³

4
5

2
3

x4 – 16
 x – 2f(x) =
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Q14. Differentiate : xlogx + (logx)x   w.r.t. x (4)

Q15. Prove that f(x) = x² – x +1 is neither increasing nor decreasing strictly on (–1, 1)
(4)

Q16. Evaluate :    x sin–1x dx (4)

Q17. Evalute :       dx (4)

Q18. Evaluate :     dx (4)

Q19. Solve by using Cramer's Rule :
3x – 4y + 5z = – 6
x + y –2z = –1
2x + 3y + z = 5

OR
Solve by using matrix method :
2x – y – z = 7,
3x + y – z = 7,
x + y – z = 3 (6)

Q20. Show that, of all rectangles with a given perimeter, the square has the largest area.
OR

Find a point on the parabola y = (x–3)², where the tangent is parallel to the chord
joining (3, 0) and (4, 1). (6)

Q21. Using integration, find the area of the region bounded by :
(–1, 1), (0, 5) and (3, 2)

OR
Find the area of the smaller region bounded by :

the ellipse + = 1 and the straight line    +     = 1 (6)

SECTION-B

Q22. If the points with position vector's 10i + 3j , 12i –5j and λi + 11j are collinear, then λ
is equal to :

(a) 4 (b) 8 (c) 12 (d) 22 (1)

∫
∫ x2 – 1

x4 + 1

∫ cos x
sinx + cos x

x² y²
a² b²

x y
a b

d    d     d   d         d       d

π/2

0
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Q23. The vector 2i + j + k is perpendicular to i + λj +2 k , if λ equal to :
(a) 0 (b) –1 (c) –2 (d) – 4 (1)

Q24. If the greatest height attained by a projectile be equal to the horizontal range, then
the angle of projection is :

(a) (b) tan–1 2 (c) tan–14 (d) tan–13 (1)

Q25. A particle starts with a velocity of 10 c.m./sec. and travels 150 cm in 30 sec. then the
retardation of the particle is :

(a)  cm/sec² (b)   cm/sec² (c)   cm/sec² (d) 0 cm/sec²
(1)

Q26. If a, b, c be the lengths of the sides opposite respectively to the angles A, B, C of a

triangle ABC, show that  Cos C = (4)

Q27. Find the equation of the plane through (1, 4, –2) and parallel to the plane
 –2x + y – 3z = 7. (4)

Q28. Resolve a force of 50N with forces making angles of 60° and 45° with it on opposite
sides. (4)

Q29. Three forces act on a particle and are in equilibrium. If the angle between the first
and the second force be 120° and that between second and third be 135°, find the
ratio of their magnitudes.

OR
Two unlike parallel forces  P and Q (P>Q) act at Points x unit apart. If the direction

of P is reversed, show that the resultant is displaced through a distance
units.

(4)

Q30. A particle falls freely from the top of a tower and during the last 2 seconds, it falls
through       th of the height of the tower. Find the height of the tower. (4)

Q31. Find the shortest distance between the pair of lines :

r = (l – t) i + (t – 2) j + (3 – 2t) k and

r = (s+1) i + (2s –1) j – (2s +1) k
Or

= = z ;  = ;  z = 2 (6)

^     ^    ^ ^       ^      ^

π
3

1
4

7
2

1
3

a² + b² – c²
2ab

3
4(  )

2PQx
P² – Q²

^ ^ ^ d

 d

x –1
2

y + 1
3

x +1
5

y –2
1
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SECTION-C

Q22. In a single throw of two dice, what is the probability of a total of 10 .

(a) (b) (c) 0 (d) (1)

Q23. If P(A)= 0.8, P(B)=0.5 and P(B/A)=0.4, then P(A/B) is :
(a) 0.64 (b) 0.66 (c) –0.64 (d) 0 (1)

Q24. The banker's discount on the bill of Rs. 64800 due 3 months hence, at 5% per annum
is :
(a) Rs. 810 (b) Rs. 800 (c) Rs. 820 (d) Rs. 900 (1)

Q25. The bill for Rs. 30,000 was drawn on June 13, 1999 payable after 10 months. Then
the due date is :
(a) 9 May, 1999 (b) 13 May, 1999
(c) 7 May, 1999 (d) None of these (1)

Q26. A bill of exchange of Rs. 2000 drawn on 1st May for 5 months is discounted on 14th
August at 5% p.a. How much does the banker charge ? (4)

Q27. A man puts up Rs. 1000 at the end of every year in the saving bank at 2½ percent
per annum compound interest. How much will his savings amount at the end of 15
years? (4)

Q28. For a firm under perfect competition, cost function is given by
C =      x³ – x²  + 10x  + 12
If the selling price is Rs. 4 per unit, will the firm continue production ? (4)

Q29. A, B, C enter into a partnership with A investing Rs. 6000 for the whole year. In the
beginning B invests Rs. 3000 and after six months he increases his capital to Rs.
4000. In the beginning, C invests Rs. 2000 after 4 months he increases his capital to
Rs. 5000. In the annual profit of Rs. 4320, find the share of each. (4)

OR
A and B start a business; their investments being in the ratio 2:3. If A gets 25% of
the total profit for managing the business, find their respective profits when the total
profit is Rs. 8000.

Q30. A dice is thrown 3 times. If getting a 'six' is considered a success. Find the probability
of (i) 3 success         (ii) at least two success. (4)

Q31. Minimize f=6x+7y subject to
10x + 4y ú 20 , 5x + 5y ú 20,
2x + 6y ú 12 and x, y ú 0

OR
If a young man rides his motor-cycle at 25 km per hour, he has to spend Rs. 2 per
km on petrol, If he rides it at a faster speed of Rs. 40 km per hour, the petrol cost
increases to Rs. 5 per km. He has Rs. 100 to spend on petrol and wishes to find what
is the maximum distance he can travel within one hour. Express this as a linear
programming problem and then solve it. (6)

 1
14

 1
12

 1
20

 1
25

 9
10
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ACCOUNTANCY

Time : 3 Hrs. M. Marks 80

Unit wise break up of marks:

(Part- A) (Partnership and Company Accounts)

Unit I - Accounting for partnership (5Marks)
Break Up: 2 (theory) + 3(practical) = 5 Marks.

Unit II - Reconstitution of partnership (18 Marks)
Break Up: 4 (theory) + 6(3theory (a)+ 3practical(b)) + 8 (Practical or theory) =18 Marks.

Unit III - Dissolution of partnership firm(10 Marks)
Break-Up:  4 (practical) + 6(Practical or theory)

Unit IV - Accounting for share capital (14 Marks)
Break-Up: 2 (theory) + 2(practical) + 4(theory) + 6(practical) = (14 Marks).

Unit V - Accounting for Debentures (13 Marks)
Break-Up: 2 (theory) + 3(theory) + 4(theory) + 4(practical) = (13 Marks).

Unit VI - (i) Analysis of financial statements (10 Marks)
Break-Up: 3(theory) + 3(practical) +4 (practical) = (10 Marks)

(ii) Statement of changes in financial position (10 Marks)
Break-Up:2(theory) + 2 (theory) +6 (practical or theory) = (10 Marks)
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ACCOUNTANCY

Time : 3 Hrs. M. Marks 80

lkekU; funsZ'k %&

1- ç'u i= dks nks Hkkxksa esa ckaVk x;k gSA Hkkx&v vkSj Hkkx&cA Hkkx&v ds 60 vad rFkk Hkkx&c

ds 20 vad gSaA

2- lHkh ç'u vfuok;Z gSaA

3- çR;sd ç'u ds vad vkxs n'kkZ, x, gSaA

4- mÙkj laf{kIr vkSj vadksa ds vuqlkj gksus pkfg,A

General Instructions:
1. Question paper is divided into two parts. Part-A carries 60 Marks and

Part-B carries 20 marks.
2. All questions are compulsory.
3. Marks are indicated against each question.
4. Answer should be brief and according to marks allotted.

Hkkx&vHkkx&vHkkx&vHkkx&vHkkx&v
(Part-A)

(Partnership and Company Accounts)

Q1. lk>snkjh lays[k D;k gksrk gS \

What is partnership deed? (2)

Q2. lafpr iwath D;k gS \

What is Reserve capital? (2)

Q3. AB Ltd. invited application for 2,000 equity shares of Rs. 10 each. Money payable as
follows. Rs. 3 on Application; Rs. 3 on Allotment & Rs. 4 on first & final call. All the
shares were applied and all sums due on allotment & final call money have been
received. Pass journal entries in the books of AB Ltd. (2)

Q4. lqjf{kr _.ki= ls vki D;k le>rs gSa \

What do you understand by secured debentures? (2)

Q5. Ram is a partner in a firm and withdraws Rs.1,000 every month. Calculate interest
on Ram's drawings @ 5% p.a. for the year 2007 assuming that he withdraw in the
beginning of every month. (3)

Q6. _.ki=ksa dh D;k fo'ks"krk,a gSa \

What are the features of debentures? (3)
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Q7. tc orZeku lk>snkjksa ds ykHk&foHkktu vuqikr esa ifjorZu gks rks [;kfr dk ys[kkadu fdl çdkj fd;k

tkrk gS \ o.kZu dhft,A

Explain the accounting treatment of goodwill. When there is a change in the profit
sharing ratio among existing partners. (4)

Q8. Pass journal entries for the following transactions on the dissolution of a firm of
partners X & Y:
(i) A unrecorded asset realised for Rs. 6,000.
(ii) Dissolution expenses amounted to Rs. 1,000. (4)

Q9. U;wure vfHknku vkSj va'kksa ds gj.k ls vki D;k le>rs gSa \

What do you understand by Minimum subscription and forfeiture of shares ?(4)

Q10. X Y Z Ltd. has Rs. 30,00,000 10% Debentures outstanding as on 1st Jan. 2007. On
this date Company took a loan of Rs. 15,00,000 from State Bank of India, for which
the Company issued 20,000 14% Debentures of Rs.100 each as a collateral security.
Pass journal entries in the books of Company. (4)

Q11. _.ki=ksa dk [kqys cktkj esa Ø; }kjk 'kks/ku dh fof/k dk o.kZu dhft,A

Explain the method of redemption of debentures by purchase in the open market.
(4)

Q12. (a) R;kx vuqikr rFkk ykHk&çkfIr vuqikr esa vUrj dhft,A

Distinguish between sacrificing ratio and gaining ratio.
(b) Radhika, Manju and Sonia are partners sharing profit in the ratio of 4:3:1.

Radhika retires and her share is taken by Manju and Sonia equally. Calculate
new profit sharing ratio and gaining ratio. (3+3=6)

Q13. The following is the Balance-sheet of A & B as on 31st Dec.2006. The profit sharing
ratio of the partners are 2:1.

Balance-Sheet as on 31-12-2006
Liabilities Amount Assets Amount

   (Rs.)    (Rs.)
Creditors 1,81,000 Land & Building    60,000
A's loan A/c   14,000 Motor vehicle    36,600

Closing Stock  1,45,600
Capital A 1,70,000 Debtors 2,26,400

B 1,26,000 Less provision      4900  2,21,500
Bank    20,000
Cash      7,300

4,91,000  4,91,000

The partners decided to dissolve the firm on the date of the balance- sheet. Motor
vehicles and stock were sold for cash at Rs. 33,900 and Rs. 1,55,200 respectively
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and all debtor's accounts were realised in full. A took over land and building at an
agreed valuation of Rs. 87,000. creditors were paid off subject to discount amount-
ing to Rs. 3,400. Expenses of realisation were Rs. 2,500.

Prepare Realisation A/C, Cash A/C and partner's capital A/c to close the books
of the firm as a result of its dissolution.

;k (Or)
mu ifjfLFkfr;ksa dk o.kZu dhft, ftuesa lk>snkjh QeZ dk lekiu gks ldrk gSA

Explain the circumstances under which a firm is dissolved. (6)

Q14. (a) X Ltd. forfeited 200 shares of Rs.10 each for non-payment of final call of Rs. 3.
These shares were reissued at Rs. 8 per share.

(b) Y Ltd. forfeited 100 share of Rs. 10 each for non- payment of final call of Rs. 2.
Forty of these shares were reissued at Rs. 9 per share.

Pass journal entries for forfeiture & reissue of shares. (6)

Q15. u;s lk>snkj ds ços'k ij vki [;kfr dk ys[kk dSls djsaxs ;fn u;k lk>snkj vius fgLls dh jkf'k

udn esa ykrk gS vkSj ;fn u;k lk>snkj vius fgLls dh jkf'k udn esa ugha ykrk gSA

Explain the accounting treatment of goodwill at the time of admission when the new
partner brings his share of good will in cash and when the new partner does not bring
his share of goodwill in cash.

;k (Or)
X,Y and Z were in partnership, sharing profits and losses equally. On Ist January
2007, 'Y' retires from the firm. On that date, their Balance-sheet was as follows:

Balance Sheet
Liabilities Amount Assets Amount

   (Rs.)   (Rs.)
Trade Creditors   3,000 Cash in hand   1,000
Bills payable   4,000 Cash at Bank   7,000
O/S Expenses   5,000 Debtors 15,500
Reserve Fund 13,000 Stock 12,000
Capital Factory Premises 22,500

X 15,000 Machinery   7,000
Y 15,000 Loose Tools   5,000
Z 15,000 45,000

70,000 70,000
(i) Goodwill of the firm is valued at Rs. 15,000.
(ii) Expenses outstanding to be brought down to Rs. 4,000.
(iii) Machinery and loose tools are to be valued at 10% less than their book value.
(iv) Factory premises is to be valued at Rs. 24,500. Show the Revaluation A/C,

Partner's capital Accounts and prepare the Balance-Sheet of the firm after the
retirement of 'Y'. (8)
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Hkkx&cHkkx&cHkkx&cHkkx&cHkkx&c

(Part-B)
(Analysis of Financial Statement)

Q16. jksdM+ çokg fooj.k D;k gS \

What is cash flow statement? (2)

Q17. dks"k ls D;k vfHkizk; gS \

What is meant by fund? (2)

Q18. Hkkjrh; dEiuh vf/kfu;e 1956 dh vuqlwfp&VI ds çFke Hkkx ds vuqlkj ,d dEiuh ds fofHkUu

nkf;Roksa dks fdu&fdu eq[; 'kh"kZdksa ds vUrxZr fn[kk;k tkrk gS \

State the major headings in the required series order on the liabilities side of the
Balance Sheet of a Company as per schedule VI, part I of the Indian Companies Act,
1956. (3)

Q19. From the following informations, prepare a comparative Income statement.
Particulars 2006 2007

(Rs.) (Rs.)
Sales 5,00,000 6,00,000
Cost of goods sold 3,00,000 4,00,000
Administrative, Selling & 1,00,000 1,50,000
distribution expenses
Other income   20,000   40,000
Income Tax  60,000   30,000

(3)
Q20. From the following you are required to compute :-

(i) Debt- Equity ratio.
(ii) Return on Investments.
(iii) Capital turnover.
(iv) Interest coverage ratio.

Informations: Rs.
Share capital 2,00,000
General Reserve   50,000
Profit & Loss A/C 1,00,000
Loan @ 10% interest 2,00,000
Sales for the year 6,00,000
Tax paid during the year   40,000
Profit for the current year after interest & tax. 1,00,000 (4)
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Q21. From the following informations prepare a cash flow statement:
Opening cash balance 20,000
Closing cash balance 24,000
Decrease in Debtors 10,000
Increase in Creditors 14,000
Sale of Fixed Assets 40,000
Redemption of Debentures       1,00,000
Net profit for the year 40,000

;k (Or)
dks"kksa ds L=ksrksa vkSj mi;ksxksa dk o.kZu dhft,A

Explain the sources and uses of funds. (6)

Accountancy
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Guidelines for Projectwork (Practical)
(Accountancy)

Part-B (Analysis of Financial statement)

Time Allowed:- 1½ hrs M.M. 20

Unitwise weightage along with guidelines:-

Unit-I PROJECT FILE  (4 Marks)

The student will prepare the Project file to record their work related its application

oriented problems attempted by them based on Part-B. The Project file should be

neatly hand written with page number marked. Each step of the solution needs to

be highlighted. Conclusions drawn are placed in boxes.

Unit-II WRITTEN TEST  (12 Marks) (One Hour)

There will be 3 application-oriented problems of 6 marks each from Accounting

Ratio, Cash Flow and Fund Flow statement. Out of which the students will attempt

any two. Marks will be awarded on the steps taken, data identified and solution

arrived at.

Unit-III VIVA-VOCE (4 Marks)

The Examiner will ask 3-4 questions to test the authenticity of the work done in

the Project file by the student.

IMPORTANT NOTE:

The examination of Project work (Practical) will be conducted internally by the

concerned schools. The marks obtained by the candidates in the Project work

(Practical) may be intimated by the concerned school to this office in the month

of February every year.

However, students appearing in the capacity of private candidate(s) shall have to

get his Project work (Practical) examined at an institution/ Examination centre

notified by the Board for the purpose.
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For Projectwork (Practical)
(Accountancy)

Part-B (Analysis of Financial Statement)

Time Allowed:- 1½ hrs M.M. 20

General Instructions:-
(i) Project file carries 4 marks.
(ii) Viva- voce carries 4 marks.
(iii) Attempt any two application-oriented problems.
(iv) Each problem carries 6 marks.

Problem No.1:-
(a) Comment on the Long-term solvency position of Atul Textiles Ltd. from the

following data:-
  Rs.     Rs.

Equity share capital 4,00,000 Sundry Creditors 1,60,000
Capital Reserve    80,000 Bank Overdraft    40,000
12% Mortgage loan 2,00,000 Provision for taxation    80,000
P & L  A/C 1,20,000 Goodwill 2,40,000
Fixed Assets 5,60,000 Stock 1,20,000
Investment    40,000 Cash 1,20,000

(b) Compare the profitability of a Company on the basis of ratio from the following
information and give your comment:-
Particulars (2005) (2006)
Sales 2,40,000 3,60,000
Gross Profit    60,000    72,000 (4+2=6)

Problem No 2 :-From the following information prepare a Fund Flow Statement of ABC & Co.
This statement should be accompanied by a Report commenting on the position.

Particulars Jan. 1 Dec.31
(Rs) (Rs.)

Cash   4,000   3,600
Debtors 35,000 38,400
Stock 25,000 22,000
Land 20,000 30,000
Machinery 80,000 86,000
Building 50,000 55,000

      2,14,000       2,35,000
Creditors 36,000 41,000
Bank loan 30,000 45,000
Capital       1,48,000      1,49,000

      2,14,000      2,35,000
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During the year drawings by the proprietors for personal use amounted to
Rs. 26,000. Provisions for depreciation on machinery stood at Rs. 27,000 and
Rs. 36,000 on 1st Jan. and 31st Dec. respectively. (6)

Problem No. 3
From the following informations, calculate cash from financial activities:-

Liab. 31 Dec. 31 Dec. Assets     31 Dec. 31 Dec.
2005 2006     2005  2006

Equity share capital      7,00,000 9,00,000 Discount in
issue of
debenture     10,000 11,000

15% preference share Underwriting
capital      5,00,000 3,00,000 Commission on
Securities Premium      1,00,000 1,40,000 Issue of Equ.

shares      Nil. 10,000
12% Debentures      3,00,000 4,00,000

Additional Informations:-
(i) 15% Interim dividend was paid on Equity Shares on 31st Dec. 2006.
(ii) Dividend on preference shares was paid.
Also give a report commenting on the cash position in financing activities.

(6)
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BUSINESS STUDIES
(Unitwise Distribution of Marks)

Time allowed : 3 Hrs. M.M. 100

PART-A (Principles and Functions of Management)
UNIT-I - Nature and Significance of Management. (7 marks)
Break up - 2+5 = 7 marks
UNIT-II - Principles of Management  (7 marks)
Break up - 3+4= 7 MARKS
UNIT-III - Business Environment (7 marks)
Break up - 2+5 = 7 marks
UNIT-IV - Planning  (6 marks)
Break up - One Question (Choice) 6 marks
UNIT-V - Organising (10 marks)
Break up - 4 + 6(Choice) = 10 marks
UNIT-VI - Staffing (10 marks)
Break up - 4 + 6 (Choice) = 10 marks
UNIT-VII - Directing  (8 marks)
Break up - 2+3+3=8 marks
UNIT-VIII - Controlling (5 marks)
Break up - (One question of 5 marks)

PART-B (Business Finance and Marketing)
UNIT-IX - Financial Management (10 marks)
Break up - 5+5 = 10 marks
UNIT-X - Capital Market (8 marks)
Break up - 4+4=8 marks
UNIT-XI - Marketing Management (16 marks)
Break up - 2+2+3+3+6 (Choice)
UNIT-XII - Consumer Protection (6 marks)
Break up - 6 marks (Choice)
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BUSINESS STUDIES

Time allowed : 3 Hrs. M.M. 100

General Instructions ¼lkekU; funsZ'k½ %

1. ç'u i= nks Hkkxksa esa ckaVk x;k gS \ Hkkx&v vkSj Hkkx&cA izR;sd ¼v Hkkx 60 vad

dk gS o c&Hkkx 40 vad dk gS½

Question paper is divided into two parts. Part-A carries 60 marks and Part-
B carries 40 marks.

2. lHkh iz'u vfuok;Z gSaA

All questions are compulsory.

3. çR;sd iz'u ds vad blds vkxs n'kkZ, x, gSaA

Marks are indicated against each question.
4. mÙkj laf{kIr vkSj vadksa ds vuqlkj gksus pkfg,aA

Answers should be brief and according to marks allotted.

PART-A ¼Hkkx&v½¼Hkkx&v½¼Hkkx&v½¼Hkkx&v½¼Hkkx&v½

Principles and Functions of Management
ç01- leUo; fdls dgrs gSa \

What do you mean by co-ordination ? (2)
ç02- O;kolkf;d okrkoj.k D;k gS \

What is business environment ? (2)
ç03- funsZ'ku dh dksbZ nks fo'ks"krkvksa dh O;k[;k dhft,A

Explain any two features of directions ? (2)
ç04- ^lksiku Jà[kyk* ds fl)kUr dh laf{kIr O;k[;k dhft,A

Explain in brief the principle of 'Scalar Chain'. (3)
ç05- i;Zos{k.k dh rhu fo'ks"krk,a crkb,A

Explain three characteristics of supervision. (3)
ç06- ,d vPNs usrk esa D;k xq.k gksus pkfg,a \

What should be the qualities of a good leader ? (3)
ç07- oSKkfud izcU/k dh dksbZ pkj fo'ks"krk,a fyf[k,A

Write any four characteristics of scientific management. (4)
ç08- laxBu çfØ;k dh O;k[;k dhft,A

Explain the process of organisation. (4)
ç09- HkrhZ ds vkarfjd L=ksrksa dh la{ksi esa O;k[;k dhft,A

Explain in brief the internal sources of recruitment. (4)
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ç010- izcU/k D;k gS \ izcU/k ds egRo dk o.kZu dhft,A

What is management ? Explain the importance of management. (5)
ç011- ljdkjh uhfr esa ifjorZu ds O;olk; ,oa m|ksx ij izHkko dh O;k[;k dhft,A

Explain the impact of changes in government policy on business and industry.
(5)

ç012- fu;a=.k çfØ;k ds fofHkUu pj.kksa dh O;k[;k dhft,A

Explain the various steps involved in the process of control. (5)
ç013- fu;kstu ds rRoksa dh O;k[;k dhft,A

Explain the elements of planning.
;k @ Or

fu;kstu dh lhekvksa dh O;k[;k dhft,A

Explain the limitations of planning. (6)
ç014- vkSipkfjd laxBu D;k gS \ vkSipkfjd laxBu ds eq[; y{k.kksa dk o.kZu dhft,A

What is formal organisation ? Explain the main features of formal organisation.

;k @ Or

fodsUæhdj.k ,oa vf/kdkj vUrj.k esa vUrj dhft,A

Differentiate between the decentralization and delegation of authority. (6)
ç015- deZpkjh fu;qfDr D;k gS \ deZpkjh fu;qfDr dh O;olk; esa D;k mi;ksfxrk gS \

What is staffing ? What is the utility of staffing in business ?
;k @ Or

çf'k{k.k dh fof/k;ksa dh O;k[;k dhft,A

Explain the methods of training. (6)

PART-B ¼Hkkx&c½¼Hkkx&c½¼Hkkx&c½¼Hkkx&c½¼Hkkx&c½

Business, Finance and Marketing
ç016- foi.ku D;k gS \

What is marketing ? (2)
ç017- mRikn dk vFkZ D;k gS \

What is the meaning of product ? (2)
ç018- foKkiu vkSj foØ; lao)Zu ds dksbZ rhu vUrj crkb, A

Give any three differences between advertising and sales promotion. (3)
ç019- foKkiu dh fo'ks"krkvksa dk laf{kIr o.kZu dhft,A

Explain in brief the features of advertising. (3)
ç020- iwath cktkj dh D;k vko';drk gS \

What is the need of Capital market ? (4)
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ç021- lsch ds mn~ns';ksa dk o.kZu dhft,A

Explain the objectives of SEBI. (4)
ç022- foÙkh; fu;kstu dk D;k vFkZ gS \ foÙkh; fu;kstu dh D;k vko';drk gS \

What is meant by financial planning ? What is the importance of financial planning?
(5)

ç023- ykHkka'k uhfr ds fu/kkZjd rRoksa dh O;k[;k dhft,A

Explain the determinants of dividend policy. (5)
ç024- foØ; lao)Zu dk vFkZ crkb,A foØ; lao)Zu dh fofHkUu fof/k;ksa dh O;k[;k dhft,A

What is meant by sales promotion ? Explain the various methods of sales promotion.
;k @ Or

lkoZtfud laca/k dh /kkj.kk D;k gS \ bldh fo'ks"krkvksa dk o.kZu dhft,A

What is the concept of public relations ? Explain its characteristics. (6)
ç025- miHkksDrk laj{k.k esa xSj&ljdkjh laxBuksa dh Hkwfedk dk o.kZu dhft,A

Explain the role of non-government organisations in consumer protection.

;k @ Or

miHkksDrk laj{k.k vf/kfu;e 1986 ds eq[; izko/kkuksa dk o.kZu dhft,A

Explain the main provisions of Consumer Protection Act 1986. (6)
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 fo"k;& fo"k;& fo"k;& fo"k;& fo"k;& rU= ok| rU= ok| rU= ok| rU= ok| rU= ok|     (Melodic)

le; % 3 ?k.Vs dqy vad % 30

Time : 3 Hours M.M. 30

uksV %& dsoy ik¡p ç'u djsaAuksV %& dsoy ik¡p ç'u djsaAuksV %& dsoy ik¡p ç'u djsaAuksV %& dsoy ik¡p ç'u djsaAuksV %& dsoy ik¡p ç'u djsaA

Do any five questions.

ç01- HkSjo jkx dh jt+k[kkuh xr vkjksg&vojksg lfgr fy[ksaA

Write the Razakhani Gat of Raga Bhairav with Aaroh-Avroha. (4+2=6)

ç02- ifjHkk"kk,a fy[ksa %& ¼dksbZ N%½

1- d`Uru 2- tetek 3- jkxksa dk le;&fl)kUr 4- jkx oxhZdj.k

5- ewPNZuk 6- xed 7- vyadkj

Define the following :- (Any six)
1. Krintan 2. Zamzama 3. Time Theory of Ragas
4. Classification of Ragas 5. Murchchana 6. Gamaka
7. Alankar. (1×6=6)

ç03- çkphu dky ds Hkkjrh; laxhr ds bfrgkl dks vius 'kCnksa esa fy[ksaA

Write the history of ancient Hindustani music in your own words. (6)

ç04- ikB~; Øe ds fdlh ,d jkx dh elhr[kkuh xr Loj foLrkj lfgr fy[ksaA

Write one Masitkhani Gat of any Raga with swar-vistar. (4+2=6)

ç05- ikB~;Øe ds jkf= xs; ,d jkx dk lEiw.kZ ifjp; vkjksg&vojksg lfgr fy[ksaA

Write complete introduction with Aaroh-Avaroha of any Raga which can be sung
during the night in your syllabus. (4+2= 6)

ç06- Loj lewg igpku dj jkxksa ds uke crk,a rFkk vkjksg&vojksg fy[ksaA

Identify the Swar Smoohas and point out the name of Ragas with Aaroh- Avaroha.
1- lk  js   xe  i   /k  i x  e  js  lk  /k /k   fu   /k  lk   js   xk

2- x e i fu /k i x e x js lk

3- fu lk e x js lk x e i fu /k i x · js lk

4- xa e /k fu lka jsa lka /k i x e js lk

5- es i /k i e e js lk

6- i es x e x js lk (1×6=6)
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 fo"k;&fgUn qLrkuh laxhr  fo"k;&fgUn qLrkuh laxhr  fo"k;&fgUn qLrkuh laxhr  fo"k;&fgUn qLrkuh laxhr  fo"k;&fgUn qLrkuh laxhr ¼xk;u½¼xk;u½¼xk;u½¼xk;u½¼xk;u½ Vocal

le; % 3 ?k.Vs dqy vad % 30

Time : 3 Hours M.M. 30

uksV& dsoy ikap iz'u djsaA
Do any five questions.

iz1- ifjHkk"kk,a fy[ksa% ¼dksbZ N%½
1- o.kZ 2- ewPNZuk 3- vyadkj 4- d`Uru 5- xed
6- jkxksa dk le; fl)kUr 7- xzkeA
Define the following: (Any six)
1- Varna 2- Murchchana 3- Alankar 4- Krintan
5- Gamaka 6- Time Theory of Raga 7-Grama (1×6=6)

ç2- (A) fogkx jkx essa foyfEcr [;ky fy[ksaA

Write one Vilambit Khayal in Raga Bihag.
(B) ikB;Øe ds fdlh ,d euilan jkx esa ,d /kzqin ;k rjkuk

fy[ksaA
Write one Dhrupada or Tarana of your choice Raga from your syllabus.

(3+3=6)

ç3- fgUnqLrkuh laxhr ds e?; ,oa vk/kqfud dky ds bfrgkl dk laf{kIr
o.kZu djsaA

Q3. Write Brief History of med and modern period of Hindustani Music. (3+3=6)

ç4- (A) ikB;Øe ds fnu esa xk, tkus okys ,d jkx dk lEiw.kZ ifjp;
vkjksg&vojksg lfgr fya[ksaA
Write complete introduction with Aaroha- Avroha of any one Raga in your
syllabus which can be sung during the day. (3)

(B) HkSjoh jkx ds NksVs [;ky dh cfUn'k vkjksg&vojksg lfgr fya[ksaA
Write one Drut Khayal of Bhairavi with Aaroh- Avroha. (3)

ç5- cM+k [;ky 'kSyh ds lkFk ctk; tkus okys ckjg ek=k ds rky dh
,dxq.k, nqxq.k ifjp; lfgr fy[ksaA

Write with introduction, Ekgun, Dugun of any Tala with 12 (Twelve) matras
played wih Bada- Khayal form. (2+2+2=6)

ç6- Loj lewg igpku dj jkxksa ds uke rFkk vkjksg&vojksg fy[ksaA

Identify the Swar smoohas and write the names of Ragas with Aaroh and Avaroha.
¼d½ lk js x e i/k i x e js lk fu /k lk js lkA
¼[k½ x e i fu /k i x · js lk fu lk e & x · js · lkA
¼x½ x e i /k fu lka fu /k i e x js lkA
¼/k½ i es x e x · js lk, x e i fu lkaA
¼M½ lk e e i /k i fu /k lka fu /k i e e js lkA
¼p½ x e /k /k i · x e js js lkA (1×6=6)

. .
.
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fo"k;&fo"k;&fo"k;&fo"k;&fo"k;&     rU= ok| ¼rcyk] i[kkot½ rU= ok| ¼rcyk] i[kkot½ rU= ok| ¼rcyk] i[kkot½ rU= ok| ¼rcyk] i[kkot½ rU= ok| ¼rcyk] i[kkot½ (Percussion)

le; % 3 ?k.Vs dqy vad % 30

Time : 3 Hours M.M. 30

uksV %& dsoy ik¡p ç'u djsaAuksV %& dsoy ik¡p ç'u djsaAuksV %& dsoy ik¡p ç'u djsaAuksV %& dsoy ik¡p ç'u djsaAuksV %& dsoy ik¡p ç'u djsaA

Do any five questions
ç01- fdUgha N% dh ifjHkk"kk,a fy[ksa %&

1- o.kZ 2- dky 3- fØ;k 4- jkxksa dk le; fl)kUr

5- xed 6- jkx&oxhZdj.k 7- vyadkj 8- tetek

Write definitions of any six of the following.
1. Varna 2. Kala 3. Kriya 4. Time Theory of Raga
5. Gamaka 6. Classification of Ragas 7. Alankar 8. Zamzama.

(1×6=6)
ç02- vk/kqfud laxhr ds bfrgkl dk o.kZu djsa rFkk fo".kq ukjk;.k Hkkr[k.Ms th }kjk fd, lkaxhfrd

dk;ks± dk mYys[k djsaA

Write the history of Modern period of Hindustani Music and also write works of
Pt. Vishnu Narayan Bhatkhande. (6)

ç03- rhu rky] fryokM+k dh rqyuk ek=k] cksy] rkyh lfgr Bsdk fy[ksaA

Compare Teentala and Tilwara and also write the Theka with matra, Bole, Tali.(6)

ç04- vius rky ok| dk fp= cukdj feyku fof/k ljy 'kCnksa esa fy[ksaA

Draw the picture of your Tala Vadya and also write the way of tuning of your
instrument. (3+3=6)

ç05- :id] pSrky vkSj nknjk dk Bsdk fy[ksaA

Write the Theka of Rupak, Chautala and Dadra. (2+2+2=6)

ç06- rqyuk djsa %&

1- frgkbZ     &   frxqu

2- foyfEcr  &   æqr

3- rcyk    & i[kkot

Write the difference.
1. Tihai - Tigun
2. Vilambit - Drut
3. Tabla - Pakhawaj (2+2+2=6)
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HOME SCIENCE ¼x`g foKku½¼x`g foKku½¼x`g foKku½¼x`g foKku½¼x`g foKku½
le; % 3 ?kaVs dqy vad % 70

uksV %& lHkh iz'u vfuok;Z gSaA
Note : Attempt all the questions.

1- ,d Hkkjrh; cPps dh tUe ds le; Å¡pkbZ o vkSlr Hkkj fdruk gksrk gS \ 1
What is the standard weight and height of an Indian child at the time of birth ?

2- cPpksa ds nw/k ds nk¡r o cM+ksa ds LFkk;h nkarksa dh la[;k fdruh gksrh gS \ 1
Give the number of milk teeth of a child and permanent teeth of an adult.

3- Lruiku ds pkj ykHk fy[ksaA 2
Write down the four advantages of breast feeding.

4- O.R.S. ls D;k vfHkizk; gS \ O.R.S. cukus dh fof/k dk o.kZu djsaA 2
Define O.R.S. and explain the method of preparing O.R.S.

5- gSt+k jksx fdl thok.kq }kjk QSyrk gS \ jksx ds QSyus ds nks dkj.k] y{k.k o mipkj fy[kksA 3
Name the bacteria who spread cholera, give two factors responsible for cholera,
symptoms and preventive measures.

6- ¼1&5 o"kZ½ rd Vhdkdj.k lkj.kh @ rkfydk cuk,aA 4
Prepare an immunization chart (1-5 yrs).

7- lkekftd fodykaxrk D;k gS \ Hkkjr esa lkekftd fodykaxrk ds D;k dkj.k gSa \ o.kZu djksA
What do you mean by socio-emotional disadvantages ? What are the causes of
socio-emotional disadvantage among children in India. 4

8- vkgkj fu;kstu ls D;k vfHkizk; gS \ 1
What do you mean by meal planning ?

9- LruR;ktu ls D;k vfHkizk; gS \ 1
What do you mean by weaning ?

10- vfrlkj ls ihfM+r jksxh dh ,d fnu dh vkgkj rkfydk cuk,aA 2
Plan a day diet for diarrhoea patient.

11- ty dks lkQ djus ds nks ?kjsyw mik;ksa dk o.kZu djsaA 2
Explain two house hold methods of making water safe for drinking.

12- [kk| LoPNrk fdls dgrs gSa \ [kk| LoPNrk dks izHkkfor djus okys fdUgha nks dkjdksa dk o.kZu
djsaA 3
Define food hygiene. Discuss the two factors that affect the safety of food.

13- ty dh mi;ksfxrk ij uksV fy[kksA v'kq) ikuh ls gkssus okys nks jksxksa ds uke fy[kksA 4
Write a note on "Importance of Water" and list two diseases caused by impure water.
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14- feykoV fdls dgrs gSa \ nSfud thou esa fdu&fdu ifjfLFkfr;ksa esa [kk| inkFkks± dks vifefJr
ekuk tkrk gS \ 4
Define adultration. In which conditions the food is said to be adultrated in our daily
life ?

15- vk; fdls dgrs gSa \ ikfjokfjd vk; ds izdkj fy[kksA 1
Define income. Write down the types of family income.

16- ifjokfjd vk; dh laiwfrZ ds nks lk/ku fy[kksA 1
Explain the two methods of supplementing the family income.

17- nSfud thou esa cpr D;ksa t:jh gSa \ 2
Why do you need to save in daily life.

18- 'ks;j rFkk _.k i= ls D;k vfHkizk; gS \ 2
What do you mean by Shares and debentures?

19- foØsrk fdl izdkj ls miHkksDrk ds lkFk /kks[kk/kM+h djrk gS \ o.kZu djksA 3
Explain the malpractices adopted by the dealer to deceive the consumer.

20- fdUgha nks ij uksV fy[kks %&
I.S.I., F.P.O., AGMARK 4
Write a short note on any of two : I.S.I, F.P.O, AGMARK.

21- miHkksDrk laj{k.k vf/kfu;e D;k gS \ bl dh eq[; fo'ks"krk,a D;k gSa \ o.kZu djksA 4
What do you understand by the term Consumer Protection Act? Discuss the salient
features of Consumer Protection Act. Explain.

22- oL=ksa dk eq[; dk;Z D;k gS \ 1
List the Primary functions of clothing.

23 izkFkfed jaxksa ds uke fy[kksA 1
Name the Primary colours.

24- nSfud thou esa oL=ksa ds p;u dks izHkkfor djus okys fdUgha pkj rRoksa dk o.kZu djsaA 2
Write four points you will consider while purchasing clothes in our daily life.

25- lwrh rUrqvksa dh okaNuh; vkSj vokaNuh; ¼nks&nks½ xq.kksa dk o.kZu djsaA 2
Write down the two desirable and undesirable qualities of cotton clothes.

26- jsMhesM 'kVZ [kjhnrs le; fdu&fdu ckrksa dk /;ku j[kuk pkfg, \ 3
Write few points would you check in buying a ready-made shirt.

27- nkx feVkus ds fy, fdu&fdu vfHkdeZdksa dk iz;ksx fd;k tkrk gS \
fdUgha nks dk o.kZu djsaA 4
Explain any two reagents for stain removal.

28- diM+ksa dh ns[kHkky ij uksV fy[ksaA ¼lwrh rFkk xeZ½ 4
Write a note on 'care of clothes.' (Cotton and woollen)

29- ßx`gfoKku nSfud thou esa cgqr mi;ksxh gSÞ] o.kZu djsaA 2
Explain how Home Science is beneficial in dealing with every day life.
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YOGA (Theory)

Time : 3 Hrs. M. Marks 70
1. ijh{kkFkhZ ;Fkk laHko vius 'kCnksa esa mÙkj nsaA

The candidates are required to give their answers as far as possible in their own words.
2. çR;sd ç'u ds vad mlds lkeus fn;s x;s gSaA

Marks allotted to each question are indicated against it.
Note :-

1- çR;sd fo|kFkhZ dks lkr iz'u gy djus gksaxsA pkj iz'u Hkkx&I ls vkSj rhu iz'u Hkkx&II
lsA

The candidates are required to attempt seven questions in all i.e. four questions
from Part-I and three questions from Part -II.

2- çR;sd ç'u ds lHkh Hkkx ,d lkFk gy dhft,A

Attempt all the parts of a question together.

HkkxHkkxHkkxHkkxHkkx-I (Part-1)
Q1. ;ksx n'kZu Hkkjrh; laLd`fr dh egkure~ nsu gSA bl foospuk dh O;k[;k djsaA

Yoga philosophy is one of the greatest contributions in the Indian Cultural heritage.
Explain. (10)

OR
lka[; n'kZu ls D;k vfHkizk; gS \ O;k[;k djsaA

What is Sankhaya philosophy? Explain in detail. (10)

Q2. o`fÙk;ka D;k gSa \ ;g fdrus çdkj dh gksrh gSa \ o.kZu djsaA

What are Vrittis? Explain various kinds of Vrittis. (5,5)
OR

egf"kZ ikratyh ds vuqlkj Dys'k dh D;k vo/kkj.kk gS \ Li"V djsaA

What are Kaleshas according to Maharishi Patanjali? Explain. (10)

Q3. ;e vkSj fu;e lkoZHkkSfed rRo gSa \ Nk=ksa ds pfj= fuekZ.k esa budk D;k ;ksxnku gS \

izdk'k MkyksA

What are Yamas and Niyamas ? What is their contribution towards the inculcation
of moral values in the lives of students? Explain. (5,5)

OR
Ldwyksa esa ewY;&ijd f'k{kk iznku djus esa ;ksx f'k{kk dh D;k Hkwfedk gS \ O;k[;k djksA

What is the contribution of Yoga Education towards imparting value oriented
education in schools? Explain. (10)
Yoga
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Q4. ns'k esa jk"Vªh; ,dkRedrk cuk;s j[kus ds fy, ;ksx f'k{kk fdl izdkj viuh Hkwfedk fuHkk ldrh

gS \ O;k[;k djksA

How yoga education can contribute in strengthening national integeration in the
country. Explain. (10)

OR
fuEufyf[kr esa ls fdlh ,d ds thou ij la{ksi esa izdk'k Mkysa %&

(i) Lokeh foosdkuan (ii) xkSre cq) (iii) Jh vjfoUn

Write in brief about the life of any one of the following :-
(1) Swami Vivekananda (2) Gautama the Budha (3) Sri Aurbindo

(10)

HkkxHkkxHkkxHkkxHkkx-II (Part-II)
Q5. ;ksx dh n`f"V ls LokLF; dh ifjHkk"kk Li"V djsaA

What is the concept of health from the yogic point of view? Explain in detail.(10)
OR

çk.kk;ke D;k gS \ çk.kk;ke djus ds D;k ykHk gSa \ blds vH;kl esa dkSu&dkSu lh lko/kkfu;ka

j[kuh t:jh gSa \

What is Pranayama? What are its benefits? What precautions do we need to take
while doing pranayamas. (2,6,2)

Q6. ;kSfxd O;k;ke ,oa vU; izdkj ds O;k;ke ds rqyukRed v/;;u ij izdk'k MkysaA

What is the difference between yogic and non-yogic system of exercises? (10)
OR

;ksx fpfdRlk ls vkidk D;k vfHkizk; gS \ bldh lhekvksa ij Hkh izdk'k MkysaA

What is yoga therapy? What are its limitations? Explain. (6,4)

Q7. fuEufyf[kr fcekfj;ksa esa ls fdUgha nks ds y{.k ,oa dkj.k Li"V djrs gq, budk ;kSfxd funku crk,aA

(i) e/kqesg     (ii)   eksVkik (iii) nek     (iv) vfuæk (v) dej ,oa xnZu nnZ 

What are the causes and symptoms of following diseases? Explain yogic theurapetic
measures of any two diseases given below:-
(i) diabetes (ii) obesity (iii) asthama (iv) insomonia
(v) cervical spondylitis and low back pain. (5,5)
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